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MODULE 1
TREE
UNIT 1

1.Read and translate the text. Learn the active vocabulary of

the lesson.
tree (n)
stem (n)
trunk (n)
shrub (n)
stand (n)
species (n)
herb (n)
survey (n)
protect (V)
topsoil (n)
branch (n)
solidify (v)
drought (n)
removal (n)
leaf (n)
determine (v)

tropical region
mountain elevation
heavy rain

— JIEPEBO
CTOBOYp, cT€0JI0

— CTOBOYp

— YarapHUK, Kyl

— JIEpEeBOCTaH
BH/I, TIOPOJIa

— TpaBa

— JOCII1IKEHHS

— 3aXMINATH

— BEPXHIHN Wap IpyHTy

— T1IKa

— TBEPJHYTHU

— Tocyxa

— YCYHEHHS, TIEpeMIiIeHHS

— JIUCTOK

— BHM3HAYaTH

Word-combinations:
TPONIYHUN PETIOH
TipChKE T1IBUIIICHHS
CHUJIbHUM OOIII

TREE



Tree is a woody plant with a distinct main stem or trunk. At
maturity, trees are usually the tallest plants, and their height and single
main stem differentiate them from shrubs, which are shorter and have
many stems. Trees are perennials, plants that live for at least three
years. Some species of trees only grow to 4 m in height, but the tallest
species may reach heights of more than 112 m. The largest trees,
however, are not necessarily the oldest. Trees grow throughout the
world, from the extreme cold regions near the Arctic and the Antarctic
to the hot tropical regions around equator. They grow in both rich and
poor soil, in deserts and swamps, along shores, and at mountain
elevations of several thousand feet. Although trees may grow singly,
under natural conditions they more often grow in stands, which consist
either of one species or of a mixture of species.

A forest is a plant community made up of the trees, shrubs, and
herbs that covers an area. Throughout much of North America, forests
include only a few species of trees. In tropical forests, however, large
numbers of different species can be found in very small areas. A survey
of 1-hectare plot in the Brazilian rain forest determined that it contained
476 tree species.

Perhaps the most important ecological function of trees is
protecting the land against erosion and wearing away the topsoil due to
wind and water. The trunks and branches of trees provide protection
from the wind, and tree roots help solidify soil in times of heavy rain. In
addition, trees and forests store water reserves that act as buffers for the
ecosystem during periods of drought. In many areas the removal of
forests has resulted in costly floods and subsequent droughts.

Trees and forests also provide habitat, protection, and food for
many plant and animal species. In addition, they play an important role
in global climate and atmosphere regulation — the leaves of trees absorb
carbon dioxide in the air and produce oxygen that is necessary for life.

INCREASE YOUR VOCABULARY AND CHECK YOUR GRAMMAR

I1. Give Ukrainian equivalents to the following words and
word-combinations:
woody plant, main stem, trunk, to differentiate, shrub, extreme
cold regions, rich and poor soils, deserts and swamps, mixture of
species, plant community, against erosion, wearing away the topsoil, to
contain, to protect land, wind and water, to branch, to solidify soil,
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heavy rain, to provide habitat, protection and food, atmosphere
regulation.

I11. Complete the gaps with the suitable word from the box.

[ trees, leaves, plant, soil, main, nutrients, damage, branches, }

A tree is a tall ... with a trunk and branches made of wood. ... can
live for many years. The four main parts of a tree are the ... roots, the
trunk, the branches and the ... . The roots are in the ... . The trunk is the
... body of the tree. The trunk is covered with bark which protects it
from ... . ... grow from the trunk. The leaves take in sunlight and use
... and food from the roots to make the tree grow to reproduce.

IVV. Complete the following sentences with the correct form of
the word:
1. Wood (n) / Woody (ad))
1. We went for a walk in the ... .
2. The garden was overgrown with ... plants such as hawthorn and
bramble.

2. Plant (v) / Plant (n) / Plantation (n)
1. Bees pollinate the ... by carrying the pollen from one flower to
another.
2. They ... a lot of fruit-trees in the orchard.
3. The ... of pine trees covers a great territory in the region.

3. Determine (v) / Determination (n)
1. Eye colour ... genetically ... .
2. The team has great ... to win.

4. Protect (v) / Protective (adj) / Protection (n)
1. Forests ... soil from erosion.
2. I keep my computer printer under a ... plastic cover.
3. He fights for the ... of environment.

5. Adapt (v) /Adaptation (n)
1. When a species develops special traits to better survive in a
particular environment, this is called ... .
2. The rapid rate of climate change may overcome the natural ability
of forest ecosystems to ....



6.Measure (v) / measurement (n) / measuring (ger)
1. This book describes the principles of modern forest ... .
2. With increased interest in green infrastructure has come increased
interest in ... the benefits of the urban forest.
3.There is special equipment to ... the length of trees.

V. What parts of speech do the following words belong to?

Singly, necessary, necessarily, grow, growth, mix, mixture,
tropical, determine, determination, importance, important, ecology,
ecological, differ, different, climate, climatic, regulate, regulation,
Antarctic, elevate, elevation, add, addition.

V1. Put the verbs in brackets in Present Perfect or Past Perfect
Tenses.

1. We already (to define) the meaning of this term.

2. The forester (to measure) forest size before the committee
arrived.

3. Students from agrarian university (to plant) a lot of deciduous
trees so far.

4. After the children (to spend) hours playing and exploring in the
forest around the camp they went swimming.

5. Within the last twenty years these two main branches (to grow)
more and more apart.

6. Our local ecosystem is in danger because builders (to destroy)
the forests, leaving the animals without shelter.

7. For the last 5 years people (to cut) down a lot of forests in our
area.

8. By 2015 a lot of different living organisms (to live) in this
habitat.

9. We (not to understand) the consequences of our harmful
activities yet.

10.By the time the project started our scientists (to explore) the
diversity of plant and tree species in the forests.

VII. Fill in the gaps below with a suitable preposition:

against of in during for




1. A forest is a plant community made up ... the trees, shrubs and
herbs.

2. Forests provide habitat, protection and food ... many plants and
animals.

3. The most important ecological function of trees is protecting
the land ... erosion.

4. ... many areas the removal of forests has resulted ... costly
floods and subsequent droughts.

5. Trees and forests store water reserves that act as buffers for the
ecosystem ... periods of drought.

VI1Il. Translate into English using different tense forms in
Active and Passive Voice.

1. barato nepeB 0yJi0 BUCAKEHO HABKOJIO KON L[OTO POKY.

2. HactymHoro poky KUIBKICTh  BHUCQJP)KEHUX JIEPEB Y
ICHAPOJOTIYHOMY TapKy Oy/e 30UIbIIeHa.

3. Crynmentu ¢akyJabTeTy JICOBOIO TOCIOJApCTBa  3apas
BUPYOYIOTh CTapi JAepeBa.

4. [lepeBa — 11e OaratopiuyHi POCJIHMHHU, SIKI KUBYTh TPHU 1 OLIbIIE
POKIB.

5. HaitBuii gepeBa qocsAratoTh BUCOTH CTO 1 O1IbIIIE METPIB

6. BepxHiii map rpyHTy OyB 3MHUTHI Yepe3 CHUIIbHI JOIII].

7. Jlicu cTpaxkaaroTh Bl O0araTboX MIKIJIHUKIB Ta XBOPOO.

8. ['inku cocHU OyJIM MOMIKOKEH1 CUIIBHUM BITPOM.

DEVELOP YOUR COMMUNICATIVE SKILLS

IX. Speak about tree structure using the following picture.



Crown

Bark + InnerWood = |

X. Make up questions for the following answers concerning
the tree.

A

B: Trees are perennials, plants that live three or more years.

2. Al

B: The tree height may be different: depending on many factors.

S A

B: Trees may grow singly or in stands which consist of one or a

mixture of species.

A A

B: A forest is a plant community make up of trees, shrubs and

herbs.

A

B: The most important ecological function of trees is protecting

land against erosion.

. A e

B: Trees provide habitat, protection and food for many plant and

animal species.

XI. Speak about forest as a plant community using the
following words and word-combinations:

plant community; to be made up of ...; trees and shrubs; herbs
covering the area; to contain tree species; the ecological function of
trees; to protect land against erosion; trunk and branches of a tree; to
solidify soil; to store water reserves; to provide habitat, protection and



food; to play an important role in global climate and atmosphere

regulation.

UNIT 2
I. Read and translate the text. Learn the active vocabulary of
the lesson.
seed (n) —HaCiHHUHA
flower (n) —KBITKa
growth (n) —picr
anchor (v) —3aKpIILTIOBATH(C51)
nutrient (n) —IOKHBHA PEUOBHUHA
internal (ad)) — BHYTPIIIHIH
external (adj) —30BHIIIHIN
pine (n) —CoOCHa
maple (n) —KJICH
taproot (n) -- CTPHIKHEBHH KOPiHb
meristem (n) —MepHucTeMa
cell (n) —KJIITHHA
tissue (n) —TKaHHUHA
replace (v) —3aMIHATH
oak (n) —n1y0
willow (n) —Bepoa
female (adj) — KIHOYHH
pollen (n) —ITHJIOK
male (adj) —Y40JIOBIUMHA
tassel (n) — KHATHIA, KHCTOYKA
Word-combinations:
reproductive structure PENpONYKTHUBHA CTPYKTYypa
male (female) flower qoJioBiva (KiHOYA) KBIiTKa

MAJOR PARTS OF A TREE

The major parts of a tree are its roots, trunk, leaves, flowers, and
seeds. These components play a vital role in a tree’s growth,
development, and reproduction. Trees are held in place by anchoring
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organs called roots. In addition to anchoring the tree, roots also absorb
water and minerals through tiny structures called root hairs. From the
roots the water and mineral nutrients are carried upward through the
wood cells to the leaves. Although the internal structure of most kinds
of roots is similar, there are often external differences. Pines, for
example, have a strongly developed taproot, or main root, in addition to
branching side roots. In maples, on the other hand, there is little or no
central taproot, and the other roots are produced in great numbers near
the surface of the soil.

Roots grow constantly, and at the growing tip of each root is a
region called the meristem, which is composed of special rapidly
dividing cells. Just behind the meristem the cells become elongated, and
farther from the tip the cells become differentiated into various kinds of
plant tissue. In rapidly growing roots the root tip is covered by a root
cap, a protective coat of loose cells that are constantly being rubbed off
and replaced as the root grows.

All angiosperms bear flowers, the trees’ reproductive structures.
In some trees, such as dogwoods, cherries, and some magnolias, the
flowers are large and colourful. Oaks, willows, and other temperate
forest trees, on the other hand, often bear small, pale, and inconspicuous
flowers.

In maples and many other trees the male and female reproductive
parts are carried in separate flowers on the same tree. This arrangement
is known as monoecism, and such trees are called monoecious. In oaks,
for example, the male pollen-producing flowers are borne in long
hanging tassels, and the short-stalked or stalkless female flowers are
located on the twigs. In some trees, such as the hollies and willows, the
male and female flowers are borne on separate trees.

INCREASE YOUR VOCABULARY AND CHECK YOUR GRAMMAR

I1. Give Ukrainian equivalents to the following words and
word-combinations:
major parts, flower, seed, to call, to absorb water and minerals,
internal structure, taproot, main root, the surface of the soil, the growing
tip of the root, dividing cells, plant tissue, oak, pine, maple, cherry,
dogwood, willow, reproductive parts, pollen-producing flowers, tassels,
separate trees, meristem, to branch.
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I11. Match the words having the opposite meaning:

Internal big

Tiny external
Upward inconspicuous
Conspicuous downward
Male long

Short female
Rapidly die

Grow slowly
Similar different

IV. Read and translate these words, underline the suffixes,
define a part of speech the words belong to:
grow — growth — growing — grower

differ — different — differentiate

protect — protective — protection — protector
improve — improvable — improved — improvement
produce — producer — productive
develop — development — developing — developed
add — addition — additive — additional
compose — composition — composite
separate — separation — separated
consider — considerable — considerably — consideration

V. Use the following verbs to make your own sentences in
Present Perfect, Present Perfect Continuous, Past Perfect, Past

Perfect Continuous,

Future Perfect

Continuous.
plant Grow study survive
classify Affect define adapt
destroy Absorb change interact

V1. Match the parts of the sentences:

and Future Perfect
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1.  All trees components a) by anchoring organs
called roots.
2. Trees are held in place b) in addition to branching
side roots.
3. Pines have a strongly|c) play a vital role in a
developed taproot trees growth, development
and reproduction.
4.  All angiosperms bear flowers | d) which are called
reproductive organs.
5.  Oaks and willows bear e) large  and colourful
flowers.
6. Cherries and magnolias have | f) are borne on separate
trees.
7. Maples have male and female | g) small and pale flowers.
flowers
8. In willows the male and|h) on the same tree.
female flowers
9. The internal structure of most | i) Is similar.
roots

VI1I. Arrange the words to make sentences:

1. are /the / trunk /major / parts / of / tree /roots / leaves / flowers
/seeds.

2. all / play/ parts /a role /vital / in a tree’s / growth / development /
and / reproduction.

3. all /bear /angiosperms/ flowers/ structures / the / trees’/
reproductive.

4. in / maples / the /male / are/ and / female /on / the /same / tree/
reproductive / parts /carried / in /separate / flowers.

5. in / hollies / separate / trees /and /willows/ the/ male /and/
female / flowers / are / borne / on /.

6. in / dogwoods /cherries / and / colourful / magnolias / the / are /
flowers /large / and /.

VIII. Translate into English using Passive Voice.

1. lepeBa yTpuUMYIOTBCSl Y ITPYHTI 32 TOTIOMOT OO KOPIHHS.

2. Boma ta MiHepaibHI PEYOBHHU BCMOKTYIOTHCSI KOPIHHEBUMU
BOJIOCKaMH.

3. MepucTteMy yTBOPIOIOTh KIITUHH, SIK1 IIBUIKO JIUISATHCA.
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4. Y nesakux IepeB YOJOBIYl 1 KIHOYI KBITH PO3MIIIYIOTHCS Ha
OJTHOMY JIepEBi.

5. ¥V BepOuU KiHOYI 1 YOJIOBIYI KBITKH PO3MIIIYIOTHCS Ha PI3HUX
JepeBax.

6. KBiTKH BHUIIIHI 3aMMTIOIOTHECA OKOJIAMHU.

7. barato cyxux nepeB Oysu 3py0OaHi y HaIomy Jiici

8. XBOWHI JIiCM y Wi YacTUHI KpaiHW OyayThb BIAHOBJICHI Y
HaHOIMKIOMY MaliOyTHEOMY.

DEVELOP YOUR COMMUNICATIVE SKILLS

I X. Answer the following questions:

What are the main parts of a tree?

What is the main function of a root (leaves, flower)?

What types of roots do you know?

What is the difference in pine and maple roots?

How can you define the term “meristem”?

What is the reproductive tree organ?

What trees have male and female flowers on the same tree?
How are male and female flowers borne in willows (oaks)?

Nk wWDE

X. Dwell on the structure of a tree. Describe the functions of a
trunk, root, leaf and a flower using the active vocabulary of the
lesson.

UNIT 3

I. Read and translate the text. Learn the active vocabulary of
the lesson.

bark (n) — Kxopa (aepeBa)
protective (adj) — 3aXUCHHH
texture (n) — TEKCTypa
thickness (n) — TOBII[MHA
identify (n) — BHU3HAYaTH
outer (adj) — 30BHIIIHIHA
birch (n) — Oepesa
transport (V) — TMEePEHOCHUTH
solution (n) — PO3YHH
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phloem (n) — (oema

xylem (n) — KcujeMa
cambium (n) — KamOii

layer (n) — 1map

heartwood (n) — CepIlEeBHHA
sapwood (n) — 3a00JI0Hb

slough off (v) — BigmapoByBaTHCH
pith (n) AP0, CepIIEBUHA

Word- Combinations:

living cell ’KHBa KIIITHHA
bark layer 1ap Kopu
TREE TRUNK

Bark is the outer protective covering of a tree trunk. Because bark
varies so widely in colour, texture and thickness, its characteristics
provide one of the most important means of identifying species of trees.
Most of the total thickness of bark consists of outer bark, which is made
up of dead cells. Outer bark may be very thick, as in the cork oak, or
quite thin, as in young birches and maples. Openings in the outer bark
allow the movement of carbon dioxide and oxygen to and from the
inner tissues.

The inner bark layer, called the phloem, consists of a thin layer of
living cells. These cells act together to transport food in the form of
sugars, which are made in the tree’s leaves, through the trunk and stems
to other parts of the tree. Phloem cells have thin walls, and their living
contents are so interconnected that the sugar solutions can pass easily
and rapidly from one end of the plant to the other. As old layers of outer
bark are sloughed off, new ones are constantly being added from the
inside, where new phloem is always being created.

Most of a tree trunk is occupied by the wood, or xylem layer,
which consists almost entirely of dead cells. The living xylem cells,
however, act as the tree’s plumbing system by transporting water and
dissolved food through the trunk and stems.
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A layer of cells called the cambium separates the living xylem
cells from the phloem. As the tree grows and develops, the cambium
forms new phloem and xylem cells. The layers of xylem cells form
rings; these rings can be counted to determine the age of a tree in areas
with distinct growing seasons.

In young trees the center of the woody column, inside the xylem,
consists of soft thin-walled cells called the pith. The pith serves as a
storage tissue for sugars and later as a reservoir for wastes. In older
trees the pith i1s crushed by the xylem’s woody tissue, and wastes are
simply deposited in the wood cells near the center of the trunk. As a
result, in some trees the cells within the pith become dark in colour and
form what is often called the heartwood. The lighter cells around them
make up the sapwood.

INCREASE YOUR VOCABULARY AND CHECK YOUR GRAMMAR

I. Give Ukrainian equivalents to the following words and
word-combinations:

birch; maple; solution; to identify species of trees, carbon dioxide,
cork oak, inner tissue, to be interconnected; to be occupied; to transport,
to dissolve food; a layer of cells; to separate; to form new phloem;
xylem cells; to determine the age; thin-walled cells; to serve; woody in
tissue; to become dark; heartwood; sapwood; trunk; stem; growing
season.

I11. Complete the gaps with the suitable word from the box.

protects, layer, bark, cells, tree, roots, cambium, growth,
produces

The trunk of a ... is composed of several basic parts. The ... of a
tree is probably one of the most familiar parts of a tree. The bark is an
outer covering of dead tissue which ... the tree from weather, diseases,
insects, etc. The next ... inside the bark is called the phloem. It is a thin
layer of living ... which is responsible for transporting food around the
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tree. Large amounts of sugar travel along the phloem to the ...
next portion of the trunk is called the vascular ... . The cambium is a
very thin layer of living tissue which ... new phloem to its outside and
new xylem to its inside. The cambium is the most active in spring and
early summer when most tree ... takes place.

. The

IVV. Complete the table to make word-families. In case there is
no corresponding derivative put a No sign.

Noun Verb Adjective Adverb
protective
form
important
constantly
Occupy
Move
rapidly

V. Complete the following sentences with the correct form of

the word:

1. Protect (v) / Protective (adj) / Protection (n)
2. Bark is the outer ... covering of a tree trunk.

3.  He studies at the plant ... faculty of our University.
4,  Trees stands ... land against erosion.

2. Separate (v) / Separation (n)
1. A layer of cells called the cambium ..

from the phloem.
2. This genetic ... into 2 groups was clear when working with the

complete set of 306 plants.

3. Colour (v) / Colour (n) /Colourful (adj)
1.  Her garden is a vivid display of summer ...

delighted in having the time to enjoy it.
2.  The foliage will not ... well if the soil is too rich.
3. The company produces hand-made chocolates in bright ...

wrapping.

. the living xylem cells

and my mum is
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4. Develop (v) / Development (n)
1.  As the tree matures, it well ... into a fine spreading type.
2.  These green industries can not only create more jobs but also
promote sustainable ... of the land.

5. Connect (v) / Connection (n)
1.  All the buildings ... by underground passages.
2. She replaced the receiver before the ... .

V1. Change the following sentences from Active into Passive
Voice.

1. Dead cells of the bark make up the outer bark.

2.The wood occupies the most part of a tree trunk.

3. Cambium separates the living xylem cells from the phloem.

4.They have already planted a lot of trees in their orchard.

5. He solved a difficult problem yesterday.

6.They will analyze all the data in their diploma work.

7.They are writing their test now,

8.The students had passed their exams by the end of December.

9. A root absorbs water and minerals from the soil.

VII. In the text find the sentences in Passive Voice and
translate them into Ukrainian. Define the tense used.

V1IIl. Translate into English using the active vocabulary of the
lesson.

1.CToBOYp — HaWrojoBHiIIa YacTUHA JEpeBa NPU BUPOOHHUIITBI
JicoMarepianis.

2. CToBOYyp MpHUETHYETHCA JO KOPIHHSA CBOEIO HIKHBOIO
YaCTUHOIO 1 OITHOYACHO MIATPUMYE T'UIKH.

3. IloBepxHs cTOBOypa BKpUTa KOPOIO.

4. Kopa nepeBa — 30BHIIIIHS YacTUHA CTOBOypa, siKa BiAUIEHA BiJ
IEHTPAJIbHOT YaCTUHU KaMOieM.

5. Kopa nepeBa Oepe yyacTh y JUXaHHI JiepeBa 1 3aXHIae HOro
BHYTPIIIHI IIapH B1J] 30BHIIIHIX BIUIMBIB Ta IIKIAHUKIB.

6. Kam0i1ii — map KUBUX KJIITHUH, K1 TTOCTIMHO IUIATHCS, 3aBISKU
4qoMYy 3a0€3I1eUy€eThCS 3pOCTaHHA JIEPEBA Y TOBUIUHY.

7. Slnpo € HaAUMIIHINIOW Ta HAWIIHHIIIOW YaCTUHOK JIEPEBUHU.
BoOHO yTBOPIOETHCA BIAMEPIUMH KITITUHAMM.
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8. CepueBuHa po3MillleHa B LEHTPI CTOBOypa 1 ¢opMyeThes
MIPOTSATOM TIEPIIIOTO POKY JKHUTT.

DEVELOP YOUR COMMUNICATIVE SKILLS

I X. Speak about bark basing on the following verb schemes:
.. 1s the outer protective covering ...
.. consist of outer bark ...

... 1s made up of ...

.. may be very thick ...
.. allow the movement of ...
.. consist of a thin layer ...
.. act together to ...
... have thin walls ...
.. are sloughed off ...
.. are constantly being added from ...

X. Dwell upon the wood of the tree using the following words
and word-combinations:

xylem layer, dead cells, tree’s plumbing system, to transport water
and dissolved food; though trunk and stems, cambium, level cells,
phloem, xylem cells, to form rings; to determine the age; pith; to serve
as; storage tissue; reservoir for wastes; woody tissue; to become dark in
colour; heartwood; sapwood.

MODULE 2
WOOD
UNIT 1
1. Read and translate the text. Learn the active vocabulary of
the lesson:

abundant (adj) pscHul, OaraTui
versatile (adj) yHIBEpCaJIbHUH, Pi3HOOIUHUH
serviceability (n) 3aCTOCYBaHHS
lumber (n) nuoMaTepiaim
plywood (n) danepa
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pulp (n)

convey (V)
dissolve (v)
species (n)
gymnosperms (n)
softwoods (n)
angiosperms (n)
hardwoods (n)
oak (n)

beech (n)
spruce (n)

teak (n)

balsa (n)

yew (n)
sustainably (adv)
exhaust (V)
consumption (n)
exceed (V)

fuel (n)
paperboard (n)
deforestation (n)
depletion (n)
anticipate (v)
support (n) (v)

utilization of wood
environmental toll
raw material
renewable resource
basic subsistence
driving force
reforestation program

1eJTI0JI03a
nepeaBaTu
pPO3UMHATH(CA)

BH/I, PI3HOBHU/I
rOJIOHACIHHI

XBOWHI ITOPOIU
MOKPUTOHACIHHI

JUCTSHI TTIOPOIH

ny0

OyK

SJIMHA, CMepeKa

THK

Oanb3a

THC

CTa01JIbHO

BUYEPITyBATU, BUCHAKUTHU
CTIO’KMBAHHS
MIEPEBUIILYBATH, TTEPEBUIIICHHS
MaJINBO

KapTOH

3HEJTICHEHHS

BHCHaXEHHS (peCypCiB)
nependavyaTu

HIATPUMKA. MATPUMYBATH

Word- combinations:

BUKOPUCTAHHS JEPEBUHU
€KOJIOTTYHUN 30UTOK
CUPOBUHA

BIJIHOBJIIOBAaHUM pecypc
MPOKUTKOBUNA MIHIMYM
pyliifHa cuia

rporpama JiiCOBITHOBJICHHS

WOOD PRODUCTION AND CONSUMPTION

Wood is one of the most abundant and versatile natural materials.
As a material, wood has been in service since humans appeared on
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Earth. Today, in spite of technological advancement and competition
from metals, plastics, cement, and other materials, wood maintains a
place in most of its traditional roles, and its serviceability is expanding
through new uses. In addition to well-known products such as lumber,
furniture, and plywood, wood is the raw material for wood-based
panels, pulp and paper, and many chemical products. Finally, wood is
still an important fuel in some parts of the world.

In botanical terms, wood is part of the system that conveys water
and dissolved minerals from the roots to the rest of the plant, stores
food created by photosynthesis, and furnishes mechanical support. It is
produced by an estimated 25,000 to 30,000 species of plants, including
herbaceous ones, though only 3,000 to 4,000 species produce wood that
Is suitable for use as a material. Wood-producing forest trees and other
woody plants are of two categories: gymnosperms and angiosperms.

Gymnosperms, or cone-bearing trees, produce softwoods, such as
pine and spruce, and angiosperms produce temperate and tropical
hardwoods, such as oak, beech, teak, and balsa. It should be noted that
the distinction implied by hardwood and softwood is not true in all
cases. Some hardwoods, e.g. balsa are softer than some softwoods, e.g.
yew.

Wood is a material of great economic importance. It is found
throughout the world and can be sustainably managed as a renewable
resource in contrast to coal, ores, and petroleum, which are gradually
exhausted. By means of its harvesting in forests, its transportation, its
processing in workshops and industries, and its trade and use, wood
provides jobs and supports economic development and, in some
countries, basic subsistence. Indicative of this importance is the
continued high demand for wood and wood products.

On a weight basis, the consumption of wood exceeds by far that of
other materials. More than half of roundwood (log) production is
consumed as fuel, mainly in less-developed countries. Production of
paper and paperboard has shown the most rapid increase among wood
products; this trend is expected to continue as consumption per person
in the less-developed countries approaches that in the developed
nations.

Rising world population is the driving force of increasing
consumption of wood and consequent deforestation. The depletion of
many forests, especially in the tropics, makes uncertain the provision of
an adequate wood supply to satisfy the anticipated need. Efforts to stop
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the reduction of Earth’s forest cover and increase the productivity of
existing forests, establishment of extensive reforestation programs and
plantations of fast-growing tree species, recycling of paper, and
improved utilization of wood through research could ease the problem
of wood supply and help to lessen the environmental toll of the lumber
industry.

INCREASE YOUR VOCABULARY AND CHECK YOUR GRAMMAR

I1. Give Ukrainian equivalents to the following words and
word-combinations:

versatile natural materials, less-developed countries, wood supply,
extensive reforestation, increasing consumption, to satisfy the need,
rapid increase, basic subsistence, establishment, gradually to exhaust,
coal and different ores, wood processing industry, high demand,
competition, temperate forests, serviceability, to provide jobs,
harvesting wood, in addition.

1. Give English equivalents to the following words and
word-combinations:

HE3BAKAIOUM HAa KOHKYPEHLII0, HAWOLIbII CTPIMKE 3pOCTaHHS,
IIBUJIKOPOCIIT MOPOJU JAEPEB, JICUCTICTh 3eMJll, MNPOIYKTUBHICTH
ICHYIOUMX JICIB, MaJMBO, JI€PEBOOOPOOHA MPOMUCIOBICTh, JTOCTATHE
3a0€3MEeUEeHHsI JIEPEBUHOIO0, BIJHOBIIOBAHUM pecypc, TMOMNUT Ha
ACPCBHUHY Ta BI/IpO6I/I 3 He'l', IO BCbOMY CBiTy, €KOHOMIYHE 3HA4YCHHA,
dbanepa, Me0ii, CUpOBUHA, BUCHAXXEHHA (pEeCypciB), MUIIOMaTepiaiu,
ny0, Oyk, Oepesa, XBOIHI JIepeBa, JUCTSAHI JIiCH.

IVV. Complete the gaps with the suitable word from the box.

plant, leaves, difficult, soak up, roots, trunk, contains, wood

Wood and water
Why does ... absorb water? Remember that the ... of a tree is
designed to carry water from the ... to the leaves: it's pretty much a
water superhighway. A freshly cut piece of "green" wood typically ... a
huge amount of hidden water, making it very ... to burn as firewood
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without a great deal of smoking and spitting. Some kinds of wood can
... several times their own weight of water, which 1s absorbed inside the
wood by the very same structures that transported water from the roots
of the tree to the ... when the tree was a living, growing ... .

V. Match the words having the opposite meaning:

sustainable to consume
gradually dry

to increase scarce
rapid sharply
hardwoods to emit
abundant to reduce
to absorb unstable

to create slow

raw softwoods

V1. Transform the following sentences from Present Continuous
into Present Perfect Tense.

1.
2.
3.

The workers are felling the old trees on the far site at the moment.
The consumption of wood is currently increasing greatly.

The students of Forestry faculty are actively planting the young
pines in the dendrological park now.

Right now my groupmate is making his speech at the student
conference on the problem of protecting rainforests.

The forester is marking the old trees to be removed from the
forest.

Have a look! A special machine is debarking and chipping very
big trees here.

The students of our group are just having their practical training at
the sawmill.

The workers of the sawmill are just sorting out the logs according
to their length.

DEVELOP YOUR COMMUNICATIVE SKILLS
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V1Il. Make up questions for the following answers concerning
wood:

i
B: Metals, plastics, cement, and other materials are the
competition for wood.

2. A
B: Well-known wood products are furniture, plywood, paper,
pulp, particleboard, etc.

X T S
B: Because wood is a renewable resource in contrast to coal, ores,
and petroleum, which are gradually exhausted.

A A
B: More than half of roundwood (log) production is consumed as
fuel mainly in less-developed countries.

I T
B: Rising world population is the driving force of increasing
consumption of wood and consequent deforestation.

VI1Il. Speak about the ways to stop the reduction of the
Earth’s forest cover according to the plan;

a) increase of productivity of existing forests;

b) establishment of extensive reforestation programs;

C) creating the plantations of fast-growing tree species;

d) recycling wood products;

e) improving utilization of wood through research.

IX. Speak about wood as an important material. Describe the
wood products and their consumption using the active vocabulary
of the lesson.

UNIT 2
1.Read and translate the text. Learn the active vocabulary of
the lesson:
detach (v) BiJIOKpeMIFOBaTH(CS)
inseparably (adv) HEPO3PUBHO
pulpwood (n) JepeBHHA Il BAPOOHUIITBA LIETIOI03H1
poplar (n) TOIIOJIS
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dimension (n)
determine (V)
ripening (ger)
vulnerable (adj)
favourable (adj)
consideration (n)
processing (ger)
stump (n)
remove (V)
delimbing (ger)
log (ger)
debarking (ger)
chipping (ger)
sawmill (n)
handle (v)
eventually (adv)
application (n)
temperate (adj)
mainly (adv)
facility (n)
otherwise (adv)
avoid (v)

harvesting wood
intended use
nesting bird

to fell trees
selective cutting
logging residues
storage yard
felling site

pPO3Mip, BUMIP
BU3HAYUTHU
J03p1BaHHS
BpPA3JIMBUU
CIIPUSITINBUA
PO3IIISI, IPEAMET PO3TIISITY
nepepooka

NeHb

BUJIAJIUTH, BUTYIUTH
oOpi3aHHS CyUKiB
KOJI0/1a
OKOPIOBaHHSI
BIIKOJIIOBAHHS
JCOMUJIKA
00po0IATH
3pEIITOIO
3aCTOCYBaHHS
MOMIPHUM
MEePEBAKHO
00'eKT, yCTaHOBa
1HaAKIIIE

YHUKATH

Word- combinations:

3aroTiBIsl J€PEBUHU
I[JIbOBE BUKOPUCTAHHS
NTax, M0 THI3UTHCS
pyOaTu (BaluTH) iepeBa
BHOiIpKOBa pyOKa
NOpyOKOB1 PELITKH
CKJIaJChbKa JIUITHKA
Jicocika

HARVESTING WOOD (PART I)

Harvesting wood differs radically from harvesting other crops.
The yearly growth of each individual tree cannot be detached from the
living plant. Rather, new wood is added inseparably to preexisting
growth until the entire tree is harvested, after a waiting period that
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varies widely depending on intended use of the wood—for example, 2—
3 years on energy plantations (where biomass is produced as fuel for
power generation), 6-8 years for pulpwood (eucalypts), 12—-15 years for
fast-growing poplar hybrids, 30-50 years for fast-growing pines, and
100 years or more in temperate and tropical forests producing wood of
large dimensions.

The season of harvest is not determined by the time of ripening, as
it is for agricultural crops, but by such factors as the conditions of work
for personnel, machines, and animals, such as nesting birds, and the
danger of damage to the remaining forest and to the harvested wood.

Because felled trees are vulnerable to attack by fungi and insects,
the harvest may be timed to avoid conditions favourable for these
organisms. Time of harvesting becomes a consideration mainly when
the felled trees will not be removed quickly from the forest for
processing. Otherwise, for example, in the United States harvesting is a
year-round activity.

Harvesting includes marking the trees to be removed (in selective
cutting), felling and processing the trees, and transportation of the wood
from the felling site, or stump area, to a roadside storage site or a
central processing yard (landing) in the forest. Processing includes top
removal (topping), delimbing, crosscutting into logs (bucking),
debarking, and sometimes chipping undesirable trees or logging
residues. Processing may be done totally or partially in the forest; in the
latter case, the remaining work is completed in a sawmill or other
woodworking facility.

Felled trees are handled by one of three harvesting systems:
shortwood, longwood (or tree-length), or whole-tree. In harvesting,
trees are completely processed (except perhaps for debarking) at the
felling site; the logs are then transported to a storage yard or site and
eventually to the factory where, if needed, they are debarked by
machine. In longwood harvesting, the trees are only topped and
delimbed at the felling site; the resulting long logs are then transported
to the factory to be debarked and bucked. The whole-tree system omits
processing at the felling site; topping and delimbing are done in a
central processing yard, and debarking and bucking are performed
either there or at the factory. In general, the shortwood system has the
widest application.

INCREASE YOUR VOCABULARY AND CHECK YOUR GRAMMAR
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Il. Give Ukrainian equivalents to the following words and
word-combinations:
harvesting wood, marking the trees, sawmill, preexisting growth,
fast-growing pines, felling and processing the trees, partially,
application, longwood, to be debarked and bucked, storage yard,
topping and delimbing, woodworking facility, stump area, the time of
ripening, yearly growth, fast-growing, wide application, fuel for power
generation.

1. Give English equivalents to the following words and
word-combinations:

KapJIMHAIbHO  BIAPI3HATUCA, CHUCTEMU PYOOK  TOJIOBHOTO
KOpPUCTYBaHHS, MepepoOKa JIEPEeBUHU, JOBI1 KOJIOAU, AUISTHKA 3 MHSIMHU
(3py0), Miciie pyOku , oOpi3aTu BEpXiBKY, 0OpyOaTH CydKH, CKJIQJChKE
NPUMIIICHHS, BU3HAYaTU CE30H 3aroTiBji, MOBHICTIO ab0 YacTKOBO,
TPAHCIIOPTYBAaHHS JACPEBUHM, MAIMBO, LUIOPIYHA AISIBHICTH, po0OTa,
10 3aJIMILINIIACA.

IVV. Complete the gaps with the suitable word from the box:

species, maturity, biomass, selectively, animal, damaging,
bark, lumber

Planted trees may be grown according to a precise plan and clear-
cut (the entire forest is felled) when they reach ... . A drastic approach
like that makes sense if the trees are a fast-growing ... planted
specifically for use as ... fuel, for example. Individual trees can also be
... felled from mixed forests and either dragged away by machine or ...
or even (if it makes economic and environmental sense) hauled upward
by helicopter, which avoids ... other nearby trees. Sometimes trees
have their ... and small branches removed in the forest before being
hauled away to a ... yard for further processing,

V. Match the parts of the sentences:

1. Harvesting includes. .. a) by one of three harvesting
systems.
2. Felled trees are handled... b) by such factors as the

26


https://www.britannica.com/technology/sawmill
https://www.britannica.com/plant/pine
https://www.britannica.com/technology/carpentry
https://www.explainthatstuff.com/helicopter.html
https://www.explainthatstuff.com/renewableenergy.html

conditions of work, machines,
animals, nesting birds, etc.

3. Felled trees are vulnerable...

c) processing at the felling site.

4.The season of harvest s
determined...

d) from harvesting other crops.

5. Processing includes ...

e) marking the trees to be
removed.

6. The whole-tree system omits ...

f) is a year-round activity.

7. Harvesting wood differs

radically ...

g) site and eventually to the
factory.

8. In the United States harvesting

h) top removal, delimbing,
crosscutting into logs, debarking,
and sometimes chipping of
undesirable trees.

9. The logs are then transported to
a storage yard or ...

1) depending on intended use of
the wood.

10. A waiting period varies widely

J) to be attacked by fungi and
insects.

V1. Fill in the gaps below with a suitable preposition:

From of

by

according

to to

for

1. The logs are then transported to a storage yard where, if needed,

they are debarked ...

a special machine.

2. Felled trees are handled by one ... three harvesting systems.

3. Long logs are then transported ... the factory.
4. The harvest may be timed to avoid conditions favorable ... some

harmful organisms.

5. Planted trees may be grown ... a precise plan.
6. Felled trees will be removed quickly ... the forest to the special

facilities for processing.

VI1I. Transform the sentences from Active into Passive Voice.
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1. Special machines transport the logs to a storage yard or site and
eventually to the factory.

2. Wood specialists mark the trees to be removed from the forest.

3. The workers omit processing the whole trees at the felling site.

4. Foresters grow some certain tree species for biomass as fuel for
power generation.

5. Some fungi, insects and harmful microorganisms attack the
vulnerable felled trees.

6. Such factors as the conditions of work for personnel, machines,
animals, nesting birds and the danger of damage to the remaining
forest determine the harvesting period.

VIII. Find the sentences in the text with Passive Voice and
translate them into Ukrainian. Define the tense used.

DEVELOP YOUR COMMUNICATIVE SKILLS

I X. Answer the following questions to the text:
1.  What does the waiting period for harvesting wood depend

on?
2.  What factors is the harvesting time determined by?
3. Why are fungi and other harmful organisms dangerous for
felled trees?

What is “selective cutting”?

What does wood processing include?

Is processing always done totally in the forest?

Where are the long logs usually debarked?

Which of the three harvesting systems has the widest
application?

© N oA

X. Speak about harvesting wood according to the following
plan:
a) different waiting periods for harvesting wood;

b) the factors to determine the harvesting season;
c) the stages of harvesting wood,;
d) felled trees are handled by one of three harvesting systems;
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e) the main kinds of processing trees.

UNIT 3

1.Read and translate the text. Learn the active vocabulary of

the lesson:
hammer (n)
accomplish (v)
handsaw (n)
angular (n)
strip (n)
bucking (ger)
ax (n)
spud (n)
skidding (ger)
available (adj)
shears (n)
carry out (v)
feller (n)
landing (n)
bunch (n)
feller-skidder (n)
portable (adj)
prune (v)
bundle (n)
complete (adj) (v)
perform (v)
restrict (v)
clear-cutting (ger)
adverse (adj)
consequence (n)
impact (n) (v)
biodiversity (n)
chisel (n)

chain saw
circular saw

MOJIOTOK

3/IIMCHIOBATH, BUKOHYBATH
py4dHa mujia

KYTOBUM, KyTOBUU

CMyTa. CTpIYKa

3TUHAHHS, BUTUHAHHS
COKHpA

IHCTPYMEHT J1JI1 OKOPIOBAHHS
3aHECCHHS

JNOCTYIHUM, HASIBHUMN
HOKUI

31MCHIOBATH, IPOBOJAUTHU
Jicopy0, 1poBopyO
JIUISTHKA, MalJaHINUK
My4OK, KyTa
TPETIOBAJILHUK JICPEBUHU
IIOPTATUBHUM, IEPEHOCHUN
oOpi3aru, miipizatu
Iy4OK, 3B’ SI3Ka

IIOBHHUM, 3aBEPIIATH
BUKOHYBATH, 3/[1ICHIOBATU
oOMexyBaTH

CyIJIbHA pyOKa
HECIIPUATIMBUI

HACJ1I0K

BILINUB, BILUIUBATH
010JIOT1YHE PI3HOMAHITTS
J0JI0TO, 3yOHJIO0

Word- combinations:

OeH30IIMIa
MAPKYJISIpHA TTHja
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to pile the logs yKJIaJaTH KOJIOIH B IITa0ei

skidding operations TpeIIIoBaIbHI POOOTH
crawler equipment I'YCEeHMYHA TEXHiKa
cable systems Ka0OeJIbHI CHCTEMU
water jets BOJISIHI CTPYMEHI
carbon sequestration MOTIMHAHHS BYIJICIIO

HARVESTING WOOD (PART II)

Marking trees is done with a branding hammer or paint. Felling is
commonly accomplished by chain saw; ax and handsaw are seldom
used today. The standard technique for felling is to make an angular
front cut, or undercut, on the side of the tree in the chosen direction of
felling and then to saw a back cut so that the narrow strip of wood left
between undercut and back cut breaks when the tree falls. The chain
saw is also used for delimbing and bucking, and debarking is
sometimes done in the forest by ax or spud (a combination of spade and
chisel).

In various forests of the world, animals such as horses, mules,
oxen, and elephants are employed for skidding (dragging) the wood
from the felling site to a concentration yard.

In contrast to the labour intensiveness of such traditional
harvesting, a great variety of machines are available for all the above
operations. Felling machines (fellers) are equipped with shears, chain
saws, or circular saws; they are usually employed on small-diameter
trees (e.g., for pulpwood), but larger machines are available for trees up
to about 50 cm (20 inches) in diameter.

Some machines are specialized to perform separate operations
such as delimbing or debarking, whereas others carry out combined
operations. Harvesters combine felling, delimbing, and bucking; the
logs are then loaded on forwarders for transport to a landing. Processors
top, delimb, and bunch felled trees and pile the logs after the trees are
bucked. Feller-skidders combine felling and skidding operations.

Chippers can chip whole trees and load the chips into trucks or
trailers. Also available are portable debarkers and portable machines
called tree monkeys that can delimb (actually prune) and debark
standing trees.

Mechanical transportation is by wheeled or crawler equipment,
by cable systems, and seldom by helicopter or giant balloon. In cable
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systems (also called skyline systems) the logs are transported while
lifted partially or wholly off the ground.

Pulpwood logs are sometimes bundled at the felling site and
transported on trailers to storage yards or directly to pulp mills. Loading
Is generally mechanized. If an operation, such as bucking or debarking,
iIs not completed in the forest, it is performed in the factory by
stationary machines or, in the case of debarking, by water jets.

Mechanization of harvesting is the trend, but regions of small
annual yield and unfavourable topography restrict the potential of
expensive machines, and in many countries human and animal labour is
still commonly used. High mechanization in combination with
extensive clear-cutting has very adverse environmental consequences,
both in terms of carbon sequestration and in terms of the impact on
biodiversity.

INCREASE YOUR VOCABULARY AND CHECK YOUR GRAMMAR

Il. Give Ukrainian equivalents to the following words and
word-combinations:

branding hammer, a paint, felling site, impact on biodiversity,
unfavourable topography, to load the chips into trucks, portable
debarkers, to bunch felled trees, to transport logs on trailers, water
jets, to perform separate operations, by chain saw, narrow strip of
wood, for delimbing and bucking, circular saw, equipment, annual
yield, storage yard, carbon sequestration, extensive clear-cutting.

I11. Give English equivalents to the following words and
word-combinations:

€KOJIOTTYH1 HACJIIKH, BILJINB Ha 010p13HOMAHITTS,
HECTIPUATIUBUM penibed), IETI0JI03H 3aBOJM, OOpi3Ka CY4KiB 1
pacKpsi’KE€BKa, T'yCEHWYHA TEXHIKa, TIFAHTChbKAa TMOBITPSHA KYJIs,
CKJIAJICbKI MPUMIIICHHS, CylUIbHA BUPYOKa, OOMEXUTH MOTEHIIIAI,
HECTIPUATIMBI HACIHIJIKH, 3aBaHTAXXKUTH TPICKY VY BaHTaXIBKH,
BEPTOJIIT, YaCTKOBO a00 MOBHICTIO, CKJIACTH KOJIOJIM B IITA0ECIb.

IVV. Match the following terms with their definitions:

1. chain saw a) a mechanical vehicle that drags the
logs from the felling site to the store yard
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2. log b) a mechanical power-driven cutting
tool with teeth set on a chain which moves
around the edge of a blade.

3. crawler Cc) a power saw with a rapidly rotating toothed

disk.

4, shears d) a piece of a tree used as lumber

5. circular saw | e) to trim (a tree, shrub, or bush) by cutting
away dead or overgrown branches or stems,
especially to increase fruitfulness and growth.

6. portable f) a cutting instrument in which two blades
move past each other, like scissors but typically
larger.

7. to prune g) a large, heavy motor vehicle used for
transporting goods, materials, or troops.

8. truck h) able to be easily carried or moved, especially
because being of a lighter and smaller version
than usual.

Q. biodiversity | 1) logging residues, the remaining product of
processing the wood

10.chips j) the variety of life in the world or in a

particular habitat or ecosystem.

V. Arrange the words to make a sentence.

[site.

. logs / bundled / sometimes / the felling / pulpwood / are/ at

. adverse / mechanization / high / extensive / and / has / very /

environmental / clear-cutting / consequences.

. dragging / horses/ such / animals / employed / as / mules /

and / elephants / are / for / the wood / oxen.

and.

. used /delimbing / saw / the chain / bucking / is / also / for /

. with / hammer / branding / trees / is /done/ a / paint/
marking/ or.
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V1. Fill in the gaps below with a suitable preposition:

of for On with into

1. We depend ... forests for our survival, from the air we breathe to
the wood we use.

2. Forest products are a vital part ... our daily lives in more ways
than we can imagine.

3. Forests provide jobs ... more than 13 million people across the
world.

4. Many our activities directly or indirectly involve forests. Some are
easy to figure out while others are less obvious, such as by-
products that go ... everyday items like medicines, cosmetics and
detergents.

5. Forests provide us ... shelter, livelihoods, water, food and fuel
security.

VII. Translate into English using modal verbs:

1. Bu Moxere AOMOMOITH MEHI CKIACTH IUIaH MOAAJbIINX

3axomiB? - Tak, Moxy, 60 e Most poboTa.

2. Yu ciig MeHi 3BepTaTUCs J0 BHUKJIajada 3a JOIIOMOT 00 ?

3. Tu noBUHEH 3po0OUTH 11€ camocTiitHo. Lle — TBii1 000B’A30K.

4. BoHa 3My11€Ha 3p00UTH NIpUOUpPaHHS CbOTOH1, 00 3aBTpa BOHA

YEKa€e TOCTEN.

5. Ilpe3unent mae Biasinatu [lonplry HaCTymHOI cepeiu.

6. To0O1 ciix BiABIIATH CTOMATOJIOra, BIH 3MOKe TOO1 JOITOMOI'TH.

8. S He 3Mir npuiitu 10 Tebe BUOpa, 60 OyB AyKe 3alHATUN Ha

poOoTI.

9. MosxHa MEHI1 ITOCTaBUTHU BaM 3anuTaHag? - Hi, He MoxkHa.

10. KoHiiepT MaB moyatucsi 0 BOCbMiH, ajie apTUCTH 3aMi3HUITUCA.

11. Mu manu 3ycTpiTucs Ol YHIBEPCUTETY, ajie MoYaBcsl JAOII 1 5
3MYIIICHUN OyB 3MIHUTH Hallll [JIAHHU.

12. 51 3MOKy 3aKIHUUTH 11O CTATTIO TUIbKHU 3aBTpA.

13. Tit cimix npo6aunTy oMy, BiH 3MyLIEHUI OYB 11e 3pOOHTH.

DEVELOP YOUR COMMUNICATIVE SKILLS

VI1Il. Make up questions for the following answers.
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L A e
B: Marking trees is done with a branding hammer or paint.

>

2.
B: An ax and a handsaw are seldom used today.
3

>

B: In various forests of the world, animals such as horses, mules,
oxen, and elephants are employed for skidding (dragging) the
wood.

B Portable debarkers and portable machines that can delimb
(actually prune) and debark standing trees are called «tree monkeysy.

D A

B: Harvesters combine felling, delimbing, and bucking.

. A e

B: In contrast to the labour intensiveness of such traditional

harvesting, a great variety of machines are available for all the

operations.

IX. Make up a summary to the text.

MODULE 3
USE OF WOOD
UNIT 1
1. Read and translate the text. Learn the active vocabulary of
the lesson:

primary (adj) NIEPBUHHMM, TOJTOBHUHN
pole (n) CTOBII, KEpAUHA
piling, pile (n) cBas
veneer (n) IITIOH
plywood (n) ¢danepa
particleboard (n) JICII, nepeBoCTpy’>KKOBa ILJIUTa
fibreboard (n) JIBII, nepeBOBOJIOKHHUCTA TIATA
pulp (n) 1EJII0J103a, TyJIbIa
intermediate (adj) IPOMDKHHUM, CEpeTHIH
secondary (adj) BTOPUHHHM, JPYTOPSTHUN
furniture (n) MeO0JTi
wharf (n) PHUCTaHb, IPUYAI
fence (n) Oropo’ka, mapkaH
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treatment (n) 00poOKka

lumber (n) UIoMaTepiaiu
quality (n) SKICTh
sawdust (n) THpCa
slab (n) IIMTa
residues (n) 3aJIMIIKH, PESIITKH
grading (ger) COpPTYBaHHS. OIlIHFOBAHHS
acceptable (adj) NPUHHATHAM, IPUITYCTUMHMI
matches (n) CIpHUKH
rotary-cut (n) porariiiina pi3ka
clipping (ger) o0pi3Ka, BUpi3aHHS
chips (n) CTpYXKa

Word- combinations:
mine timber IaXTHI JicoMaTepiaan
highway guards TOPOKHI OTOPOJIKEHHS
surface irregularities HEPIBHOCTI IMMOBEPXHi
sheet of wood JUCT ICPCBUHU
uniform thickness piBHOMipHa TOBITHWHA
tapered saw KOHYCHA IHJIa
wasteful operation HEepaIlioHaJIbHE BUKOPUCTAHHS
rotary-cut veneer IINOH CTPYTaHUH 3 POTALITHUM PO3IUIOM
the yield of lumber BUXI1]] TUJIOMaTEpiaTiB

ROUNDWOOD PRODUCTS, SAWN WOOD AND VENEER

The products of primary mechanical processing of wood are
roundwood products (poles and pilings), sawn wood, veneer, plywood
and laminated wood, particleboard, fibreboard, pulp and paper. Some
products of primary manufacture, such as poles and posts, are used
directly, but many constitute intermediate materials that by further
processing are turned into secondary products such as furniture,
building structures and components, containers, and musical
instruments.

Roundwood products. Poles, posts, and certain mine timbers are
products in round form. Poles are used in supporting telegraph and
telephone lines and as pilings (foundations for wharves and buildings);
posts are used in fences, highway guards, and various supports. As a
rule, roundwood products are subjected to preservative treatment. The
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bark is removed in the forest or factory, and poles and posts are further
processed by shaving to remove surface irregularities.

Sawn wood. Lumber is the main sawn wood product. Lumber of
large dimensions (more than about 10 cm in width and thickness) and
suitable for heavy constructions is called timber. Another important
product made by sawing, and sometimes by hewing, is railroad ties.

The yield of lumber in a sawmill varies widely, from about 30 to
70 percent, depending on the types of machines used, the diameter of
logs (the larger the diameter, the higher the yield), and the quality of
wood (the more defects, the lower the yield). The rest is changed to
sawdust, slabs, trimmings, or chips. Residues that cannot be turned into
products (usually including bark) are burned to produce energy.

After production the lumber may be treated with a preservative
chemical to prevent attack by fungi and insects and is measured
(classified according to dimensions), graded, and piled to dry. Grading
lumber is usually visual and based on defects.

Veneer. Veneer is a thin sheet of wood of uniform thickness
(commonly 0.5-1.0 mm) and sometimes as much as 10 mm.

According to the method of production, it is classified as rotary-
cut, sliced, or sawn (produced with a special tapered saw). More than
90 percent of all veneer is rotary-cut, but figured woods producing
veneer for furniture and other decorative purposes are sliced. Sawn
veneer is seldom produced, because it is a wasteful operation.

After production, the veneer is passed through specialized dryers.
Rotary-cut veneer is “clipped,” by a guillotine-type knife to remove
defects and produce individual sheets of acceptable size. In some
modern factories all operations, from handling the logs to cutting,
clipping, and drying, are automated by use of computers.

Veneers are used primarily for plywood and furniture, but they are
also used in toys, various containers, matches, battery separations, and
other products.

INCREASE YOUR VOCABULARY AND CHECK YOUR GRAMMAR

Il. Give Ukrainian equivalents to the following words and
word-combinations:
primary mechanical processing, yield of lumber, specialized
dryers, residues, particleboard, plywood and veneer, sawn wood,
intermediate materials, secondary products, furniture, to prevent attack
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by fungi, railroad ties, wharves and buildings, various supports, to
remove defects, decorative purposes, matches, sawdust and slabs, visual

grading.

1. Give English equivalents to the following words and

word-combinations:

KpyTJl JicomaTepianu, pi3Hi omopH, (aHepa, UIMOH, CIPHUKH,
0o0poOka 3apaau 30€epeKeHHs, JEKOpaTHBHI I, CydacHi MeOu,
CKJIaJIaTH B KyIly, CIeIliajibHa KOHYCHA MUJIKa, BUX1Jl MUJIOMaTEpiaiB,
NUWISHAW IIMOH, TPUHUHATHUM pPO3MIp, BHUPOOJSATH EHEPrito, HIK
T'JIbHOTUHHOIO TUITY, CYIIIKA, SIKICTh JICPEBUHU, YCYHYTH AC(DEKTH.

V. Match the parts of the sentences.

1. Some products of primary
manufacture, such as ...

a) are products in round form.

2. Lumber of large dimensions and
suitable for heavy constructions ...

b) poles and posts, are used

directly.

3. Poles, posts, and certain mine
timbers ... are products in round
form....

c) is classified as rotary-cut,

sliced, or sawn.

4. Some intermediate materials are
turned into secondary products
such as ...

d) through specialized dryers.

5. According to the method of
production, veneer ...

e) is called timber.

6. After production the lumber may
be treated with a preservative
chemical ...

f). are burned to produce energy.

7. After production, the veneer is
passed ...

g) plywood and furniture.

8. Residues that cannot be turned
into products (usually including
bark) ...

h) furniture, building structures
and components, containers, and

musical instruments.

9. Veneers are used primarily for

1) are automated by use of

computers.

10. In some modern factories all

J) to prevent attack by fungi and
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operations, from handling the logs | insects
to cutting, clipping, and drying ...

V. Complete the gaps with the suitable word from the box.

[ leaves, tree, rings, cambium, heartwood, sapwood, bark, }

Structure of wood

Take a tree and peel off the outer "skin" or ... and what you'll find
Is two kinds of wood. Closest to the edge there's a moist, light, living
layer called ... packed with tubes called xylem that help a tree pipe
water and ... up from its roots to its ... ; inside the sapwood there's a
much darker, harder, part of the tree called the ... , which is dead,
where the xylem tubes have blocked up with resins or gums and
stopped working. Around the outer edge of the sapwood (and the trunk)
is a thin active layer called the ... where the ... is actually growing
outward by a little bit each year, forming those famous annual ... that
tell us how old a tree is.

VI. Complete the sentences with the correct form of Participle |

or Participle I1.

1. Everybody knows that it is dangerous to stand under a ... (to
fall) tree.

2. After production the veneer is passed through ... (to
specialize) dryers.

3. Forest clearing is a ... (to grow) problem.

4. According to the method of production veneer is ... (to
classify) as rotary-cut, sliced or sawn.

5. The yield of lumber in a sawmill varies widely ... (to depend)
on the types of machines used.

6. Steve stopped ... (to realize) that he had lost his way in the forest.

/. We saw a young forester ... (to hurry) to the felling site.

8. Poles are used in ... (to support) telegraph and telephone lines
and as pilings.

9. In some modern factories all operations, from handling the logs to
cutting, clipping, and drying are ... (to automate) by use of
computers.

10. Another important product ... (to make) by sawing, and
sometimes by hewing is railroad ties.
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VI1I. What derivatives can you give to the following words:
a) thick;
b) process;
C) to preserve;
d) product;
e) special;
f) measure;
g) forest;
h) to create.

DEVELOP YOUR COMMUNICATIVE SKILLS

VIII. Answer the questions to the text “Roundwood products,

sawn wood and veneer”.
1. What are the products of primary mechanical processing wood?

2. What are the secondary products that are obtained after processing
the primary ones?

3. Where are poles and posts used?

4. Why are roundwood products subjected to preservative treatment?

5. What is the main sawn wood product?

6. What kind of lumber is called timber?

7. How are the residues that cannot be turned into products usually
used?

8. What kind of wood product is veneer?

9. What is a guillotine-type knife used for?

10.What things are made of veneer?

IX. Translate the following sentences into English using

the active vocabulary of the lesson.
1. Jesiki npoJyKTH NEPBUHHOTO BUPOOHUIITBA, TaKl SIK CTOBIU Ta

OMOPH, BUKOPUCTOBYIOTHCSI OE3MOCEPEIHBO B PI3HUX ray3sxX.
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3.

5.

Poramiitauii mmoH "oOpi3aeTbes" HOXKEM TITBUOTUHHOTO THITY

Uil BUJAJICHHS JIeEeKTIB 1 OTpUMaHHS OKPEMHUX JIUCTIB

MPUUHSATHOTO PO3MIpY.

Buxin nuimoMarepialiB Ha JIICONWJIII 3aj€KUTh BIJI THUIIIB

BUKOPHUCTOBYBaHUX MAIIWH, JlaMeTpa KOO/ 1 IKOCT1 JIePEBUHHU.
[MunsHuil 1IMOH BUPOOJSIOTH  PIJIKO,
BUTpPATHE BUPOOHUIITBO.

OCKUJIBKH 1€ YK€

[Ticyist BUpOOHUIITBA IIMIOH MPOMYCKAIOTh Yepe3 Creliali3oBaHi

CYILIapKH.

[Ticns BUPOOHUIITBA

creraIbHIMHI

XIMIKaTaMu  JUIA

nujioMaTepialu
3anmo0iraHHs

36YIIHI/IK8,MI/I XBOpO6 Ta IIOIMKOAKCHHS KOMaxXaMU.

00pOOJISIOTH
ypakKeHHSI

31e01IbIIOTO IIMOH BUKOPUCTOBYETHCA JJISI BUTOTOBJICHHS

dha"epu Ta MeOIiB,

CopTyBaHHS TUJIOMaTepialiiB, SK MPaBWIO, € Bi3yaJbHUM 1

0a3yeTbCsl HA BUSIBJICHH1 Je(DEKTIB (Ban).

the lesson:
plywood (n)
total (ad))
odd (adj)
assemble (v)
loading (ger)
stack (v)
grade (v)
advantage (n)
resistance (n)
splitting (ger)
value (n)
adaptable (adj)
curve (v)
variety (n)
beam (n)
possess (V)

UNIT 2
1. Read and translate the text. Learn the active vocabulary of

(danepa

3araJlbHUU

HENapHUuu

30uparu(cs)

3aBaHTAKCHHS

YKJIaJaTy B IITA0ENb
OL[IHUTHU

nepeBara

CTIMKICTb, OMIp
PO3IIETICHHS

3HA4YCHHS, BapTICTh,
aJlanTOBaHWM, MPUCTOCOBAHUM
BUKPUBIISITU(CS). BUTHHATHUCS
PI3HOMAHITHICTb, COPT

Oanka

BOJIOJITH
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solid (adj) MIIHAN, TBEPIHIA

thinness (n) TOHKICTh
knot (n) BY30II
angle (n) KyT

Word- combinations:

laminated wood JaMiHOBaHa JICpEBUHA, JIaMiHAT
glued together CKJICEHI MIJK COO0I0
dimensional stability CTaOUIBbHICTD PO3MIpIiB

exterior siding 30BHIIIHA CailIlHT
sound-insulating 3BYKO130JIAIIIHHHHA
load-carrying members HECy4i eJIEMCHTHU

to reduce waste 3MEHIINUTHU KUIBKICTH BIAXO/IIB

PLYWOOD AND LAMINATED WOOD.

Plywood and laminated wood are both made of layers of wood
glued together. The basic difference is that in plywood the grain of
alternate layers is crossed, in general at right angles, whereas in
laminated wood it is parallel.

Plywood. Plywood is a panel product manufactured by gluing one
or more veneers to both sides of a central veneer layer. Most plywood is
all-veneer. The total number of layers is usually odd (three, five, or
more). After the glue is spread, the panels are assembled and brought
for pressing, usually in large, multistoried hot presses, where loading is
automatic. After pressing, the panels are stacked to cool and then are
sanded, graded, and stored. Plywood ranges in thickness from 3 mm for
all-veneer to 30 mm (1.2 inches) for lumber-core.

Plywood has many advantages over natural wood; among them
are dimensional stability (the primary advantage), uniformity of
strength, resistance to splitting, panel form, and decorative value. These
characteristics make it adaptable to various uses.

Plywood (and the panel products particleboard and fibreboard)
serve in building construction, including walls, floors, roofs, and doors;
exterior siding and interior finishing (e.g. wall paneling); furniture;
shelving; shipbuilding; automobile manufacture; refrigeration cars;
toys; concrete formwork; and many other applications. Special types
combine decorative value with thermal- and sound-insulating
properties.
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In addition to being made into flat panels, plywood is
manufactured in curved form (molded plywood), which is used for
boats, furniture, and other products.

Laminated wood. Laminated wood is usually built by the parallel
gluing of lumber boards in a variety of sizes and shapes according to
intended use. The main products are load-carrying members, such as
beams and arches.

Laminated wood possesses several advantages over solid wood. It
can be used to fabricate large members that are impossible to make
from solid wood. The individual boards used in laminated wood,
because of their relative thinness, can be properly dried without
checking (cracking), and defects, such as knots, can be removed. In
addition, because laminated wood is glued, wood of small dimensions
can be used, thus reducing waste.

INCREASE YOUR VOCABULARY AND CHECK YOUR GRAMMAR

Il. Give Ukrainian equivalents to the following words and
word-combinations:

total number of layers, refrigeration cars, right angle, both sides,

in addition, relative thinness, dimensions, impossible, many advantages,

multistoried hot press, to cool, uniformity of strength, curved form,

concrete, variety of sizes and shapes, intended use, to be properly dried.

I11. Give English equivalents to the following words and
word-combinations:
cTens, miaora, gpanepa, po3mip ta hopma, BUrHyTa gopma, Kiek,
BWIy4YaTH, IUIMTa, JOIIKA, MOXJIMBUM, HEMOXJIWBUMN, IepeBara,
HEJIOJIK, BUMIpP, BITHOCHA TOHKICTh, TBEpJia JE€PEBUHA, JaMiHAT, apka,
Oayika, JeKOpaTUBHA I[IHHICTh, 3arajibHa KIJbKICTbh, IIAP, BJIACTHUBOCTI,
TEIJI0130AUIMHUN MaTepian, OAHOPIIHICTh, HAJIEKHUM YHHOM, PO3MIp.

V. Match the words with the same meaning:

to possess steadiness
dimensions to compound
to reduce complete
stability to sort
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to combine to own

total features

to grade to decrease
properties to produce

to manufacture measurements

V. Match the following terms with their definitions:

1. odd a) the ability not to be affected by something,
especially adversely.
2. solid b) a kind of wood material made by the parallel

gluing of lumber boards.

3. resistance

c) or part of a building, usually to support the roof or
floor above.

4. beam d) having one left over as a remainder when divided
by two.

5. uniformity e) firm and stable in shape; not liquid or fluid.

6. splitting f) the space (usually measured in degrees) between
two intersecting lines or surfaces at or close to the
point where they meet.

7. angle g) the action of dividing or being divided into parts.

8.laminated h) an appliance or compartment which is artificially

wood kept cool and used to store food and drink.

9. concrete 1) b) the quality or state of being uniform.

10. refrigerator

J) a heavy, rough building material made from a
mixture of broken stone or gravel, sand, cement, and
water.

V1. Arrange the words to make a sentence.
1. together/ made / layers / plywood / is made/ of / wood / glued.
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. arches / load-carrying / products / the / main / are / members /
beams / and.
dimensions / wood / of / producing / small / can / be / laminated

[ used / in / wood.

. Characteristics / these / uses / various / laminated / make / wood /
adaptable / to.

.- wood / laminated / solid / several / possesses / advantages / over /
wood.

. manufactured / curved / plywood / can / in / form / be.

VII. Translate the sentences into English using the Infinitive
Constructions:

. 1 HiKonM HEe 6a4yuB, SIK BUPOOJISIOTH (haHepy.

. JlupexTop JICOMUIKH X0dYe, 100 Il KOJOoAW Oyl CKIaJcHl B
1ITadesIl CHOT O THI.

3. Bizomo, mio mamiHat Mae OaraTo IMepeBar HaJ TBEPAOIO
JIEPEBUHOIO.

4. Mu 6auyniu sk poOITHUKH MIJISLIN JiepeBa OCH30IMIIOLO.
5. I'oBOPSATH, 10 SAKICTH Ii€i paHepu HAOAraTo BHUIIIA.

6. Mu xodemo, mo0 Oankw Ui Hamioi cTeial Oyiau JO0CTaBIICHI
3aBTpa.

. 3J1a€THCS, 110 MeH MIMOH He JyXKe 100pe MPOCYIICHUHN.

8. S Oaumna, U0 TPaKTOP TATHYB KOJIOJW BEJIMKUX PO3MIpPIB HA
OyIiBEILHUM MalIaHuHK.

9. Tu xonu-HeOyap OayuB, SIK BUKOPUCTOBYIOTH (aHepy NpH
BUPOOHUIITBI MEOJIiB?

10. Crymentun dakyabTeTy JAepeBOOOPOOHMX  TEXHOJOTIN
CIIOCTEpIragu, $K POOITHUKM JICONUIKH OKOPIOBAJIM JOBTI
KOJIOH.

DEVELOP YOUR COMMUNICATIVE SKILLS

VIII. Say if these statements are “true” or “false”.

1. Loading the panels into large multistoried hot presses is usually
automatic.

2. Laminated wood is usually built by the parallel gluing of

lumber boards in a variety of sizes and shapes.
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3.
4.

5.

6.
7.

Plywood is manufactured only in the form of flat panels.

The main products of laminated wood are load-carrying
members, such as beams and arches.

Because laminated wood is glued, wood of small dimensions
can also be used but it is very wasteful operation.

Plywood has many disadvantages comparing to natural wood.

Special types of plywood combine decorative value with
thermal- and sound-insulating properties.

Some special properties of plywood make it not adaptable to
various uses.

Plywood ranges in thickness from 10 mm for all-veneer to 50
mm (1.2 inches) for lumber-core.

IX. Speak about plywood and laminated wood according to
the following plan:

1. Plywood and laminated wood are both made of wood layers
glued together.

2. The difference in manufacturing plywood and laminated
wood.

3. The total number of layers in plywood.

4. What is done with the panels before and after pressing.
5. The advantages of plywood over natural wood.

6. The use of plywood.

7. The way to build laminated wood.

8. The advantages of laminated wood over solid wood.

9. The main products made of laminated wood.

X. Make a summary of the text.

UNIT 3
1. Read and translate the text. Learn the active vocabulary of
the lesson:
particleboard (n) nepeBoctpyskkoBa muta (JICIT)
particle (n) JacTKa, YaCTOYKa
glue (n) (v) KJICH, KJISiTH
flakes (n) JTyCOYKH, TIIACTIBII
friction (n) TepTS
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sawdust (n)
source (n)
tolerate (V)

homogeneous (adj)

surface (n)
purpose (n)
mold (v)
fiber-board (n)
involve (v)
reduction (n)
pulping (ger)
steam (v) (n)
delivery (n)
blend (v)
improve (V)
preliminary (adj)
step (n)
grinding (ger)
subsequent (adj)
acid (n)
alkalies (n)
bleach (v)
beating (ger)
refining (ger)
additive (v)

limited amount
resin adhesive
sheet formation

finishing treatment

water resistance
moisture content
special mills

THUpCa

IDKEepesto

TEPIITH, IPUITYCKATH
OJTHOP1THUMN

MOBEPXHSI

MPU3HAYEHHSI, METa
dopmyBatu
nepeBoBoJiokHUCTa muta (JIBIT)
BKJIIOUATH, 3aTy4aTH
CKOPOYEHHS, 3MEHILICHHS
BapIHHS 1IEJI0JI03U

napa, mpomnaproBaTu
JIOCTaBKa

3MIITYBaTH
MOKpAIlyBaTH
NONepeIHIN

KpOK, eTaln

nutiyyBaHHs, MOP10ICHHS
HACTYIHUH, NOJAJIbIINN
KHCJIOTA

JIyTU

BIIOLTIOBATH

ouTTA

nepepoOka, padinyBaHHS
no0aBka

Word - combinations:

oOMesKeHa KIJIbKICTh
CMOJISIHUM KJIeH
dbopmMyBaHHS JUCTA
¢inimHa 00poOKa
BOJIOCTIMKICTH
BMICT BOJIOTH
crienianbH1 ppe3u

PARTICLEBOARD, FIBREBOARD, PULP AND PAPER

Particleboard.

Particleboard, another panel product, is

manufactured of particles of wood glued together. Particles are flakes or
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flakelike forms produced from wood by cutting, breaking, or friction.
Sources of particles include residues from sawmills (including sawdust)
and other wood-using industries, small-diameter roundwood, defective
logs, and harvesting residues. Bark is tolerated in limited amounts, and
debarking is not necessary if the bark is thin and the particles are placed
in the interior of the panel. Particle production or delivery to the factory
Is followed by screening, drying, classification of particles, mixing with
resin adhesive, board formation and pressing.

Particleboard is made in several forms: single-layer, in which
particle size is practically homogeneous throughout; three-layer, in
which particle size is different in core and surface layers; and graded, in
which there is a gradual, symmetrical reduction of particle size from the
centre of a board to its surface layers.

Particleboard is made for interior use (for example, for furniture,
paneling, and doors) or for structural purposes (to support loads).

In addition to being produced in its flat-board form, particleboard is
sometimes molded under high pressure and temperature to various
shapes

Fiber-board. Production of fiber-board involves reduction of the
wood to particles, pulping, sheet formation, pressing, and finishing
treatment.

Pulping is mechanical; the main method is the thermomechanical
process, in which wood particles are steamed and then reduced to fibres
by the action of special mills. Before sheet formation, the pulp is
blended with certain materials to improve water resistance, strength,
and other properties. Either of two basic processes, dry or wet, is
employed in the formation of the fibere sheet. Pressing is considered
either wet or dry depending on the moisture content of the fiber sheet.

Pulp and paper. Wood is the main source of pulp and paper.
Preliminary production steps are debarking and chipping. Pulping
processes are of three principal types: mechanical, or grinding;
chemical, or cooking with added chemicals; and semichemical, or a
combination of heat or chemical pretreatment with subsequent
mechanical reduction to fiber. The yield of pulp ranges from about 40
percent by chemical methods to 95 percent by mechanical ones.
Chemical processes are based on either acids or alkalies. The pulp so
produced is washed, screened, thickened by the removal of most of the
water, and bleached. Paper manufacture involves beating or refining the
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pulp, sizing and filling (introducing various additives), and running the
pulp into the proper machine.

INCREASE YOUR VOCABULARY AND CHECK YOUR GRAMMAR

Il. Give Ukrainian equivalents to the following words and
word-combinations:

glued together, refining the pulp, chemical pretreatment,
subsequent reduction, removal of water, acids or alkalies, introducing
various additives, debarking and chipping, preliminary steps, the main
source, wet or dry, special mills, flat-board form, reduction of particle
size, homogeneous, residues, water resistance, particleboard, fiber-
board.

I11. Give English equivalents to the following words and word-
combinations:

crneuiaibHl (pe3u; Tupca; BMICT BOJOTM; BHXIJ LEIIOJI03H;
KHUCJIOTH a00 JIyT'W; MPOMUTI, MPOCISTHI Ta 3TYIIEH]; BiAOUIIOBATH; Pi3HI
no0aBKM; IETI0JI03a Ta Talip; JACPEBOCTPYKKOBA IUIATA; CMOJISHUM
KJiel; ¢hopMyBaHHS TUIMTH; JEPEBOBOJOKHHCTA TUIMTA; MOKPAIyBaTH;
TepTs; NUTIQyBaHHS; BHYTPIIIHI pOOOTH; JOCTaBKA; BapiHHS IIETIOJI03H.

IVV. Match the following terms with their definitions:

1. lumber a) a part of the trunk or a large branch of a tree that
has fallen or been cut off.
2. plywood b) large movable equipment, such as tables and

chairs, used to make a house, office, or other space
suitable for living or working.

3. furniture c) a type of strong thin wooden board consisting of
two or more layers glued and pressed together

4. veneer d) material made in rigid sheets or panels from
compressed wood chips and resin

5. particleboard | e) wood materials of different shapes and contents
made of logs or wood residues
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6. wharf f) a thin decorative covering of fine wood applied to a
coarser wood or other material.

7. saw g) powdery particles of wood produced by sawing.

8. sawdust h) a long, rounded piece of wood, used with one end
placed in the ground as a support for something.

9. log 1) a hand tool for cutting wood or other materials,
typically with a long, thin serrated steel blade

10. pole J) a level quayside area to which a ship may be

moored to load and unload.

V. Match the words having the opposite meaning:

coarse to unload
to cut increase
to load soft
moisture to glue

to separate alkaline
reduction permanent
acidic molded
movable to unite
flat dryness

V1. Arrange the words to make a sentence.

1. particles / wood / particleboard / is manufactured / of / glued
together / manufactured.

2. industries / sawmills / include / sources / residues / of / particles
/ from / and / other / wood-using.

3. acids / based / processing / chemical / the pulp / is / on / either /
or / alkalies.

4. formation / before / with / sheet / the pulp / materials / is /
blended / certain.

5. special / reduced / particles / mills / to fibers / wood / and / are /
steamed / and / by / the action / of /.
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6. wood / reduction / firstly / involves / production / of / fiber-
board / of / to particles.

VI1I. Translate the sentences into English using the Infinitive
Constructions:

A He 1001110, KOIM POOITHUKH 3aIMI3HIOITHCS HA POOOTY.

Mu po3paxoBy€eMo, 1110 111 KOJIOAW Oy 1yTh MOAPIOICH] 3aBTpa.
CTyieHTH HEe OYiKyBaJIH, IO ICIIUT OYy/i€ TAKUM CKJIaIHUM.

S 6auuB, K BaHTaXI1BKa 3 JTicOMaTepialaMu BUixXaa 31 CKIafy.

ok e

Bin xode, 1100 s AOMOMIT HOMY PO3BAaHTAXXUTH BEJIUKI JIUCTH

dhanepu.
Bu xonu-ueOyap 6aumiiu siKk BUPOOJISIIOTH mamip?

N o

OdikyeThCs, IO MPaKTHKA Ha JICOMUII Oy/ie Ay>Ke I[IKaBOIO
Ta KOPHUCHOIO.

8. S TepmiTH HE MOXY, KOJIM JIEAK1 JIIO/IU 3a0pyIHIOIOTH JIiC.

9. Yn xotumi Bu, 1100 BOHA IIOCHIIAJIacs Ha Balle JOCIIIKEHHS
y CBOI1l cTaTT1?

10. Maru Biguysa, 0 AUTHHA CIIOKIMHO JTUXAE.

11. HixTto He 6auuB, SK BiH YBIUIIOB JO KPaMHHUIII.

12. 'V nautuHCTBI 8 mOOMB, KOJW MaTyCsl CITiBajlla MEHI
YKpPAiHCBKI IICHI.

MODULE 4

WOOD PROPERTIES AND TREATMENTS

UNIT 1
1. Read and translate the text. Learn the active vocabulary of
the lesson:
application (n) — 3aCTOCYBaHHS
weight (n) — Bara
strength () — cuia
moisture (n) — BOJIOT'ICTh
heartwood(n) — CeplICBHHA
sapwood (n) — 3a00JI0Hb
lustre (n) — OJIMCK
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nutrient (n) — MOKMBHA PCYOBHHA

growth (n) — picr
participate (v) — OpaTH y4acTh
density (n) — IIUIBHICTD
deciduous (adj) — JUCTAHHUI
evergreen (adj) — BIYHO3CJICHHM
layer (n) — 1map

inner (adj) — BHYTpIIIHIH

Word- combinations:
hardness of wood TBEPJICTh JICPECBUHHU
inner layer BHYTPIIIHIN I1ap

WOOD PROPERTIES

The total number of products made from wood is enormous—as
high as 10,000, by some estimates. Such wide application is made
possible by the versatility of wood and its many desirable qualities,
such as high strength for its weight, workability, and aesthetic appeal.

But wood also has certain undesirable characteristics. It can burn
and decay, for instance. It is hygroscopic (moisture-absorbing), and in
gaining or losing moisture it changes dimensions.

In many tree species the central part of the transverse section of
trunk is darker in colour than the peripheral wood. This inner part is
called heartwood, and the surrounding zone sapwood. Sapwood
comprises the newer growth rings and participates in the life processes
of a tree. As the diameter of the tree increases with growth, the older,
inner layers no longer take part in the transport and storage of water and
nutrients and become heartwood. After a certain age, heartwood exists
in all species, even though there may be no colour change.

Sensory characteristics of wood include colour, lustre, odour,
taste, weight, and hardness of wood. Colour covers a wide range
yellow, green, red, brown, black, and nearly pure white woods exist, but
most woods are shades of white and brown.

Natural lustre is characteristic of some species (for example,
spruce, ash, basswood, and poplar) and more prominent on radial
surfaces. Odour and taste are due to volatile substances contained in
wood. Although difficult to describe, they are helpful distinguishing
characteristics in some cases.
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Weight and hardness are included in a diagnostic rather than
technical sense—weight as judged by simple hand-lifting and hardness
by pressing with the thumbnail. Common temperate-climate woods
range in weight from about 300 to 900 kg per cubic metre in air-dry
condition.

Density is the weight or mass of a unit volume of wood,
Determination of the density of wood is more difficult than for other
materials because wood is hygroscopic; both its weight and volume are
greatly influenced by moisture content. The density of temperate woods
varies from about 0.3 to 0.9 gram per cc, but the range worldwide is
approximately from 0.2 to 1.2 grams per cc.

Wood is divided into two distinct kinds called hardwood and
softwood, though confusingly the names don't always refer to its actual
hardness or softness:

Hardwoods typically come from broad-leaved (deciduous) trees
(those that drop their leaves each fall. Examples include ash, beech,
birch, mahogany, maple, oak, teak, and walnut.

Softwoods typically come from evergeen (coniferous) trees (those
that have needles and cones and retain them year-round. Examples
include cedar, cypress, fir, pine, spruce, and redwood. Its leaves (inset)
drop off in the fall and new ones grow in spring.

It's generally true that hardwoods are harder than softwoods, but
not always. Balsa is the best-known example of a hardwood that is
actually very soft. Hardwoods have lovely, attractive grains and are
used for such things as making fine furniture and decorative woodwork,
whereas softwoods often come from very tall, straight trees, and are
better suited for construction work (in the form of planks, poles, and so
on).

INCREASE YOUR VOCABULARY AND CHECK YOUR GRAMMAR

Il. Give the Ukrainian equivalents to the following words and
word-combinations:

wide application, high strength, to change dimensions,
workability, heartwood, sapwood, density, moisture content, unit
volume of wood, broad-leaved (deciduous) trees, evergreen trees, ash,
beech, birch, mahogany, maple, oak, teak, walnut, spruce, cedar,
cypress, fir, pine, hardness or softness of wood, construction work,
making furniture, density of temperate woods, temperate-climate
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woods, life processes of a tree, growth rings, colour, lustre, odour, taste,
weight.

I11. Match the words having the opposite meaning:

inner softwood
hardwood outer
distinct easy
difficult peripheral
simple similar
central artificial
natural die

grow undesirable
desirable complex

IVV. Read and translate these words, underline the suffixes,
define a part of speech the words belong to:

apply — application - applicable

grow — growth — growing — grower

differ — different — differentiate

protect — protective — protection

improve — improvable — improvement

produce — producer — productive

compose — composition — composite

construct — construction - constructive

participate — participation — participatory - participant.

transport — transportation — transporter - transportable.

V. Complete the gaps with the suitable word from the box:

determine, climatic, species, latitude, affected, ecosystem,
factors, precipitation, average, interact, altitude,
geographic, weather, forest

Different types of forests exist because forests grow in different
. conditions. Climate is the long-term ..., or overall picture, of the
everyday ... experienced in a location. The climate can be ... by a
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number of different ..., including ... and .... In each different climate,
there is a different temperature, amount of ... (water falling from the
sky, such as rain, hail or snow), sunlight and wind. All these factors the
... plants and animals that live in the area and how they ... with one
another. Specific ... areas are split into ‘biomes’, and each biome is a
defined by the ... living there. Therefore, the climate determines what
kind of ... exists in an area and the type of ... biome that we see there.

VI. Turn sentences from direct into reported (indirect)
speech:

1. My colleagues said to me: “This company is overexploiting
these forests™.

2. The scientists said: “A lot of animal species disappeared from
this territory last year”.

3.“This climate change is causing an increase in the number and
strength of extreme weather events”, professor said.

4.“Many human activities convert forest land into agriculture
land”, he said.

5.“These species can adapt to the new environment here”, they
said.

6.“Disturbances have been shaping forests in different ways”, they
noticed.

7.“Sensory characteristics of wood include colour, lustre, odour,
taste, weight, and hardness of wood”, professor stressed.

8.“In many tree species the central part of the transverse section of
trunk is darker in colour than the peripheral wood," the scientist said.

9.“Nowaydays the wooded areas in the country represent less than
one third”, the researcher underlined.

10. "Determination of the wood density is more difficult than for

other materials because wood is hygroscopic “, the forestry engineer
said.

VII. Translate into English using the active vocabulary of the
lesson. Mind Present Tenses in Active and Passive Voices:

1. JlepeBuHa BUKOPUCTOBYETHCS [JiI BUTOTOBJICHHS MEOJIB Ta y
OyIIBHUIITBI.

2. OCHOBHI BIJIACTUBOCTI JE€PEBUHU MOXHA PO3JUIUTA Ha TpPH
IpyIU: MEXaHIKO-TEXHOJOT14HI, (PI3UYHI Ta XIMIYHI.
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3. Jlo MeXaHIKO-TEXHOJIOTIYHHUX BJIAQCTMBOCTEH  HaJIC)KaTh.
MIIHICTb, TBEPAICTb, THYYKICTh, EKCILTyaTallliiHl XapaKTEePUCTHUKHU Ta
1H.

4. ®di3uuHl BIACTHBOCTI BKJIOYAIOTH: OJHCK, KOJIpP, BOJIOTICTH,
HIUTBHICTB, €JEKTPONPOBIAHICTD TOIIIO.

5. XiMi4H1 BJIaCTUBOCTI BIJIOOpaXEH1 Y OPraHIuHUX PEUYOBHHAX, 1110
MICTSTBCS B IEPEBI.

6. LlenTpasibHa YacTHHA MOMEPEYHOTO PO3PI3y JAepeBa TEMHIIIA 3a
KOJIbOPOM, HIXK niepudepiiina.

/. BHyTpilIHs YacTHMHA JCPEBUHU HA3UBAETHCS CEPILEBUHOIO, a
miap, sIKai i otouye, 3a060710HHI0. KOXXHa 13 IIUX 4YaCTUH BUKOHYE CBOIO
pOJIb Y KUTTI JAepeBa.

8. IcuytoTh pi3H1 Kinacudikaili 1epeBUHU. 3aJICKHO BiJ TBEPAOCTI
BUJIUJISIOTH JBA TUIIU JEPEBUHU: TBEPAY 1 M'SIKY.

9. Teepmy nAepeBMHY MarTh JepeBa TaKUX TOpia: ayO0, KIIeH,
oepes3a, ropix touo. M'sSKy IEepeBHHY MalTh KEIp, CMEPEKa, COCHa,
SIIMHA, OCHKa Ta 1H.

DEVELOP YOUR COMMUNICATIVE SKILLS

VIII. Ask questions to the sentences below and use them to

make a dialogue:

1.Wood is divided into two distinct kinds called hardwood and
softwood.

2. Hardwoods typically come from broad-leaved (deciduous) trees
including ash, beech, birch, mahogany, maple, oak, teak, and walnut.

3. Deciduous trees drop their leaves each fall.

4. Softwoods typically come from evergeen (coniferous) trees
including cedar, cypress, fir, pine, spruce, and redwood.

5. Evergreen trees have needles and cones and retain them year-
round.

6. Hardwoods are harder than softwoods but not always.

7. Hardwoods having attractive grains are used for making fine
furniture and decorative woodwork.

8. Softwoods coming from very tall, straight trees are suited for
construction work.

IX. Speak about wood characteristics using the following
words and word-combinations:

55



heartwood and sapwood, growth rings, to participate in the life
processes of a tree, the diameter of the tree, transport and storage of
water and nutrients, sensory characteristics of wood, colour, lustre,
odour, taste, weight, and hardness of wood, wide range of colours, to be
prominent on radial surfaces, volatile substances, to be contained in
wood, hand-lifting and hardness, to range in weight, unit volume of
wood , determination of the density of wood.

UNIT 2
1. Read and translate the text. Learn the active vocabulary of
the lesson:
drying(n) — BUCHUXAaHHS, CYIIIKa
lumber (n) — muJIoMaTepiain
kiln (n) — miv
pile (n) — KyIma
bug (n) — KYK
bacterium (n) — OakTepis
rot (n) — THHJIb
outer (adj) —— 30BHIIIHIN
reduce (V) — 3MEHILIUTH, CKOPOTUTH
paint (n) — ¢apOa
liquid (n) — piguHa
treatment (n) — 00poOKa
burn (v) — ropiTH
moisture (n) BOJIOTICTh
Word-combinations:
closed kiln 3aKpuTa M4
closed chamber 3aKpHTa Kamepa

DRYING AND PRESERVATION

Drying. Lumber and other wood products usually contain
considerable moisture after their production, and drying is essential to
prepare them for further use. Proper drying reduces the dimensional
changes due to shrinkage and swelling, protects wood from
microorganisms, reduces weight and transportation costs and increases
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its strength. Drying is accomplished in yards in the open air or in closed
Kilns.

The object of open-air drying is to reduce the moisture content of
wood to the lowest value permitted by weather conditions in the
shortest time without producing defects.

The air-drying yard is located close to the lumber plant, on a dry
site. The bottom row of lumber is kept about 40 cm (16 inches) above
the ground. A suitable roof, usually made of low-grade lumber or panel
material, is placed on top of each pile. The time required to air-dry from
green condition to 20 percent moisture content varies from about 20 to
300 days depending on species, place, and time of year.

Kiln drying. It is conducted in a closed chamber, under
artificially induced and controlled conditions of temperature, relative
humidity, and air circulation. This method permits much faster
reduction of moisture content to levels that are independent of weather
conditions. In wood 2.5 cm (1 inch) thick, moisture is reduced from 20
to 6 percent in 2-15 days and from green condition to 6 percent in 2-50
days.

The source of heat is usually steam circulating in pipe coils. For
satisfactory results, air movement is needed to carry the heat from its
source to the lumber and to carry away the evaporated moisture. Air
circulation is produced by fans located within the kiln and sometimes
by blowers placed outside.

Preservation. In theory, wood might last forever if it weren't
attacked by bugs and bacteria; preservatives can greatly extend its life
by preventing rot. Different preservatives work in different ways. Paint,
for example, works like an outer skin that stops fungi and insects
penetrating the wood and eating it away, but sunlight and rain make
paint crack and flake away, leaving the wood open to attack underneath.
Creosote (another popular wood preservative) is a strong-smelling, oily
brown liquid usually made from coal-tar. Unlike paint, it is a fungicide,
insecticide, miticide, and sporicide: in other words, it works by stopping
fungi, insects, mites, and spores from eating or growing in the wood.

Different kinds of treatment help to protect and preserve wood in
other ways. It's a great irony that wood can be used to build a fine home
that will last many decades or burn to the ground in minutes. Wood is
so plentiful and burns so well that it has long been one of the world's
favorite fuels. That's why fire-protection treatment of wooden building
products is so important. Typically, wood is treated with fire retardant
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chemicals that affect the way it burns if it catches fire, reducing the
volatile gases that are given off so it burns more slowly and with greater
difficulty.

INCREASE YOUR VOCABULARY AND CHECK YOUR GRAMMAR

Il. Give the English equivalents to the following words and
word-combinations:

BUCYIIIYBaHHS JEPEBUHH, 30€pPEKCHHS JIEPEBUHU, 3MCHIITYBATH
PO3MIpH 3MiH, 3aXMINATH BiJl MIKpOOPTaHi3MiB, MiABUIIYBATH MIIHICTb
JIEPEeBUHHM, BOJIOTICTh JEPEBHHH, MHIOMAaTepiaiau, Kyma, 3MIHIOBATHUCH,
KOJIUBATUCS, TEMIIEpAaTypHI YMOBH, BIJHOCHA BOJIOTICTb, TO3BOJIATH,
THUIb, OakTepii, MIKIAJIUBI KoMmaxu, (QYHTIIMA, MECTUIUI, 0O0poOka
JIEPEBUHHU, TIAJIMBO, IPOHUKATH B JIEPEBHUHY, TOPITH.

I11. Complete the table to make word-families. In case there is
no corresponding derivative put a No sign.

Noun Verb Adjective Adverb
protect
treat
different
Movement
satisfactory
Circulation
typically
IVV. Match the words having the same meaning:
wood various
different processing
treatment timber
help assist
injury land
ground damage
acomplish complete
permit construct
build allow
reduction decrease
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V. Match the words on the left with the words on the right. Use
them in your own sentences:

open-air, weather, moisture, air, conditions, humidity, fuels,
favourite, building, relative, content, changes, products,
dimensional drying, circulation

V1. Fill in the gaps below with a suitable preposition:

in of to above with

1. Drying is accomplished in yards ... the open air or in closed
Kilns.

2. The object ...open-air drying is to reduce the moisture content
of wood to the lowest value permitted by weather conditions in the
shortest time without producing defects.

3. The time required ... air-dry from green condition to 20 percent
moisture content varies from about 20 to 300 days depending on
species, place, and time of year.

4. Wood is treated ... fire retardant chemicals that affect the way it
burns if it catches fire, reducing the volatile gases that are given off so it
burns more slowly and with greater difficulty.

5.The bottom row of lumber is kept about 40 cm (16 inches) ... the
ground.

V11. Match the parts of the sentences:

1. Proper drying reduces the|a) located within the kiln and
dimensional changes due to sometimes by blowers placed
outside.

2. The air-drying yard is located | b) to levels that are independent

close to of weather conditions
3. The source of heat is usually |c) the lumber plant, on a dry
steam Site.

4. Different kinds of treatment | d) circulating in pipe coils.
help

5. Fire-protection treatment of |e) is so important.
wooden building products
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6. Kiln drying is conducted in a
closed chamber

f) under artificially induced and
controlled conditions of
temperature, relative humidity,
and air circulation.

7. Method of kiln drying permits
much faster reduction of moisture
content to levels that are
independent of weather conditions

g) after their production, and
drying is essential to prepare
them for further use.

8. Air circulation is produced by
fans

h) to protect and preserve wood
in other ways.

VIII. Find the sentences with Participle | and Participle 11, define
their functions and translate them into Ukrainian.

IX. Translate into English using the active vocabulary of the
lesson and non-finite forms of the verb.

1. Cyminus gepeBUHHU - 11e 00poOKa JAEpeBUHU, CIPSIMOBAaHA Ha
BUJIAJICHHS 3 HET BOJIOTH.

2. CyuriHHS, iK€ 3[IMCHIOEThCA 3pa3y Hicis pyOKH, OKpIM TOTrO,
1[0 MEPETBOPIOE JEPEBUHY Yy MPOMUCIOBHI MaTrepiall, 3aXHIIA€e i1 BT
IIKITHUKIB 1 XBOPOO.

3. IcHye nBa OCHOBHHMX CIOCOOM CYIIIHHS JEPEBUHU: MPUPOJIHA,
a0o0 cyllKa Ha BIIKPUTOMY MOBITPI, Ta MTy4YHA, a00 TEXHIYHA CYIIKa B
CYIIMIBHUX KaMepax.

4. CyuiiHHS B €4l 3J1MCHIOETHCS IPU BCTAHOBIICHIN TeMmepaTypi,
BIJIMOBITHIM BOJIOTOCTI Ta UPKYJISAIIT TOBITPSI.

5. Hns toro moO 30epertd AepeBUHY BUKOPUCTOBYIOTH PI3HI
3aXHCHI 3aCO0M.

6. Onagu Ta KOJMBAHHS TeMIEpaTypy HETaTUBHO BIUIMBAIOTH Ha
AKICTh JIE€PEBUHU, TOMY HEOOX1THO OOPOOUTH 11 aHTUCENITUKAMU.

7. lepeBuna n1o6pe roputh. 1100 3axUCcTUTH 11 B 3aropaHHs ClIij
BUKOPHUCTATH BOTHE3aXUCHI 3aco0M (crerianbHi hapOu, Taku, CyMiIiii).

DEVELOP YOUR COMMUNICATIVE SKILLS

IX. Make up questions for the following answers concerning
drying and preserving wood:
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L A e e

B: Kiln drying is conducted in a closed chamber, under artificially
induced and controlled conditions of temperature, relative
humidity, and air circulation.

2. Al e e e e e eas

B: Kiln drying method permits faster reduction of moisture
content to levels that are independent of weather conditions.

B A
B: The source of heat during drying is usually steam circulating in
pipe coils.

A A e
B: Methods of preservation are of two types: natural or in the
open air and artificial or technical one in chambers.

B A e —————————————

B.: Different protection methods are applied to preserve wood.

B, A e
B. Fire-protection treatment of wood with fire retardant chemicals
IS very important because they catch fire, reduce the volatile gases
that are given off so it burns more slowly and with greater
difficulty.

B.: Various insecticides, miticides and sporicides are applied: in
order to stop fungi, insects, mites, and spores from eating or
growing in the wood.

X. Speak about wood drying basing on the following verb
schemes:

... contain considerable moisture after their production ...

... reduces the dimensional changes due to ...

... Isaccomplished in yards in ...

.. I1s located close to the lumber plant ...

... 1S to reduce the moisture content of ...

... 1s kept about 40 cm (16 inches) above ...

... is placed on top of ....

.. varies from about 20 to 300 days ...
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UNIT 3

1. Read and translate the text. Learn the active vocabulary of

the lesson:

fuel (n) — TAJIMBO

log (n) — KO0JI0]1a

forestry (n) — JICIBHUIITBO

pollution (n) — 3a0pyIHEHHS

papermaker (n) — BUPOOHHK Manepy

value (n) — IIHHICTH

sapling (n) — BiJCaAJOK, Iarid

clearcutting (n) — CyIiibHa pyOKa

replacement (n) — 3aMiHa

woodworking (n) — 00po0Ka JepeBUHN

mature (adj) — JOPOCIHH, 3pLIHiA

chips (n) — THpCa

offcuts (n) — 06pi3ku

sustainable (adj) — CTIMKHNA, MOCTIAHUN

handful (n) — HEBEJIHKA KUIbKICTh
Word-combinations:

renewable energy CHEPTis, 110 BiTHOBIIOETHCS

power plant CJICKTPOCTAHITIS

environmentally friendly O€e3meYHni T JOBKLIIA

ENVIRONMENTALLY FRIENDLY

Wood fuel (a type of biomass) can be an environmentally
friendly form of renewable energy. One power plant burns 76 tons of
wood chips per hour (left) to make electric power. The wood is mostly
grown within 100km of the plant, and a lot comes from wood industry
offcuts and logging waste.

Wood was one of the first natural materials people learned to use,
and it's never lost its popularity. These days, it's particularly prized for
being a natural and environmentally friendly product.

Forestry is a rare example of something that has the potential to
be completely sustainable: in theory, if you plant a new tree for every
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old tree you cut down, you can go on using wood forever without
damaging the planet. In practice, you need to replace like with like and
forestry is not automatically sustainable, whatever papermakers like us
to believe.

A brand new tree has much less ecological value than a mature
tree that's hundreds years old, so planting a thousand saplings may be
no replacement for felling just a handful of ancient trees.

Logging can be hugely environmentally damaging, whether it
involves clearcutting a tropical rainforest or selectively felling mature
trees in old-growth temperate woodland.

Some of the processes and chemicals used in forestry and
woodworking are also environmentally damaging; chlorine, used to
bleach wood fibers to make paper, can cause water pollution in rivers,
for example.

But on the positive side, growing trees remove carbon dioxide
from the atmosphere and planting more of them is one way to reduce
the effects of climate change. Trees also provide important habitats for
many other species and help to increase biodiversity (the wide range of
living organisms on Earth). Practiced the right way, forestry is a good
example of how people can live in perfect harmony with the planet.

INCREASE YOUR VOCABULARY AND CHECK YOUR GRAMMAR

I1. Give the Ukrainian equivalents to the following words and
word-combinations:

wood fuel, renewable energy, wood chips, industry offcuts,
environmentally friendly product, forestry, biodiversity, climate
change, growing trees, species, important habitats, planting, saplings,
felling, logging, clear-cutting, temperate woodland, tropical rainforest,
felling mature trees , water pollution, sustainable, papermaker.

I11. Match the words having the opposite meaning:

internal big

tiny external
mature unsustainable
sustainable artificial
natural ancient
modern young
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old die

grow young

similar different

IV. Read and translate these words, underline the suffixes,
define a part of speech the words belong to:

use — user — usage - useful

differ — different — differentiate

protect — protective — protection

improve — improvable — improvement

produce — producer — productive

develop — development - developer

nature — natural - naturalist

pollute — pollutant - pollution

value — valuable - valuation

sustain — sustainable - sustainability

V. Complete the gaps with the suitable word from the box.

wood, noncombustible material, heating, fuel, ground
civilization, smoke hole, fireplace, stoves, industrial

Wood burning is the largest current use of biomass derived
energy. Wood can be used as asolid ... for cooking or heating, or
occasionally for steam engines.

The use of ... as a fuel source for home heat is as old as ... itself.
Historically, it was limited in use only by the distribution of technology
required to make a spark. Wood heat is still common throughout much
of the world, although it has been mainly replaced by coal, oil or natural
gas ... . Wood heating has been singled out as a serious health hazard in
many regions of the world.

Early examples include the use of wood heat in tents. Fires were
constructed on the ... and a smoke hole in the top of the tent allowed the
smoke to escape by convection.

In permanent structures, hearths were constructed ... surfaces of
stone or another ... upon which a fire could be built. Smoke escaped
through a ... in the roof.
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The development of the chimney and the fireplace allowed for
more effective exhaustion of the smoke. Masonry heaters or ... went a
step further by capturing much of the heat of the fire and exhaust in a
large thermal mass, becoming much more efficient than a ... alone.

The metal stove was a technological development concurrent with
the ... revolution. Stoves were manufactured or constructed pieces of
equipment that contained the fire on all sides and provided a means for
controlling the draft - the amount of air allowed to reach the fire. Stoves
have been made of a variety of materials.

V1. Arrange the words to make a sentence:

1. wood / form / fuel/ energy /can be / an / environmentally /
friendly / renewable /of /.

2. wood /natural / is / one / the / of / first / materials / people /
learned / to use.

3. chlorine / wood /used / to bleach / fibers / to make / paper /
water / pollution / cause.

4. power / one / burns / chips / 76 tons / per hour / to make /
electric / power / plant / of wood /.

5. wood / fuel / has /nowadays /never / lost / its / and /it / is /
widely / used / popularity.

VII. Put the verbs in brackets into the correct form to make
the first or the second type of Conditional sentences:

1. If we have severe natural occurrences, like drought, we ... (not
to have) a high yield.

2. If this plant ... (to retain) more water it would survive.

3. Unless we regenerate this tree, we ... (not to get) any fruit.

4. These fungi will spread throughout tree if you ... (not to take)
any measures.

5. If the neighbouring forest ... (to be) in fire it can be dangerous
for us.

6. We ... (to have) a dense coniferous forest if we planted trees
more regularly.

7. Unless you prune the trees and shrubs in the garden you ...
(never to have) beautiful and healthy trees.

8. If the adaptation of these trees was successful our forest ... (not
to have) any losses.

65


https://www.explainthatstuff.com/waterpollution.html
https://www.explainthatstuff.com/powerplants.html

9. If they ... (not to increase) the humidity the plants will
definitely die.
10. If we don’t stop the degradation of the soil in this area we ...
(not to have) any healthy trees.

VIII1. Translate into English using Conditional sentences.

1. lepeBa CKUHYTH JIUCTS, SIKILO OyJie CUIbHA MOocyXa.

2. SIxOm mIoma 3eMiii, BKpHTa jicamu, Oyna O1IbII0i0, MA O Malu
O1JIbIIIE KUCHIO.

3. SAkOu 1151 3uma He OyJa 3aHaJATO MOPO3HOI0, MU O HE OOsTUCS 3a
capKaHIll.

4, SKmo pOCHMHHICTH IBOTO JICYy HE Oyle BIAPI3HATUCA, MU
BTPATHUMO MOT0 YHIKAJIbHICTb.

5. Mu He MaTUMeMO JIICIB y MalOyTHbOMY, SIKIIIO HE MPUITMHUMO
HaJIMIPHO BUKOPUCTOBYBATH JIICOB1 PECYPCH.

6. SlxOu mronuHa Olnble QyMala Mpo HACHIAKUA CBOET AiSUTBHOCTI,
BTpAaTH JIicy Oyiau O 3HAYHO MEHIIUMH.

/. ko 1e aiTo Oyae MOCYNUIMBUM, Jiic Oyje OUIbII ypa3IuBUM
JI0 TIOMKEXKI.

8. SxOum ¢epmepu BUKOPHUCTOBYBAJIM MEHIIE TepOIHUAIB Ta
MECTUITUIIB, TO TPYHT OyB OM HabaraTo YMCTIIIUM.

DEVELOP YOUR COMMUNICATIVE SKILLS

IX. Ask questions to the following sentences and use them to
make a dialogue.

1. Wood fuel is environmentally friendly form of renewable
energy.

2. Wood is one of the first natural materials people learned to use,
and it's never lost its popularity.

3. A brand new tree has much less ecological value than a mature
tree that's hundred years old.

4. Logging can be environmentally damaging, whether it involves
clear-cutting a tropical rainforest or selectively felling mature trees in
old-growth temperate woodland.

5. Some of the processes and chemicals used in forestry and
woodworking are environmentally damaging.

6. Chlorine, used to bleach wood fibers to make paper, causes
water pollution in rivers.
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X. Speak about wood as a fuel using the following words and
word combinations:

renewable energy, wood fuel, electric power, natural material, to be
prized for, to be sustainable, brand-new tree, ecological value, logging,
clear-cutting, tropical rainforest, temperate woodland, pollution.

TASKS FOR SELF-STUDY
TEXT1

1. Read the text and complete the following sentences using the
words from it:
1. Forest plantations are forests that have been planted by ... .
2. Plantations are usually a.... of a single tree species that are grown
over a large area of the land.
3. Fruit orchards are not usually classified as .....because they are
usually cultivated on a smaller scale and the tress are typically smaller
than those which fit into the standard tree and forest definitions.
4. Forest plantations and woodlots provide fuel wood and building
materials for local ...
5. Planted forests are often established for environmental purposes
such as soil .......
6. There are many different types of plantations around the....
7. The rubber tree (Hevea brasiliensis) is the most commonly used
plant for producing .... .
8. Softwood is ... that comes from evergreen trees.
9. Coconut plantations can be found in 80 countries worldwide, mostly
in humid, warm ....
10. Plantations of evergreen trees are very common in temperate and
boreal ... because the trees grow quickly, providing a constant, cheap
source of timber.

2. Read the text one more time and make up its summary
using the phrases on p.

HUMAN-MADE FOREST PLANTATIONS
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Forest plantations are forests that have been planted by humans.
They can occur anywhere in the world and can be made up of any tree
species. Plantations are usually a monoculture of a single tree species
that are grown over a large area of the land. Fruit orchards are not
usually classified as plantations because they are usually cultivated on a
smaller scale and the tress are typically smaller than those which fit into
the standard tree and forest definitions. Plantations are an increasingly
important source of industrial wood, and can potentially reduce timber
harvesting from natural forests. Forest plantations and woodlots also
provide fuel wood and building materials for local use. Planted forests
are often established for environmental purposes such as sail
conservation because tree roots help to keep soil in place and prevent it
from washing away when it rains (erosion). The area of the world
covered by forest plantations is increasing, and this trend is expected to
continue.

There are many different types of plantations around the world.

The rubber tree

When you think of products made from rubber do you also think
of nature? Most probably not, but in fact, there are quite a few natural
rubbers that come from plants. The rubber tree (Hevea brasiliensis) is
the most commonly used plant for producing rubber. It originally grew
in the Amazon rainforest but it is now also commonly found in
plantations all across the tropics.

Softwood plantations

Softwood is wood that comes from evergreen trees. Plantations of
evergreen trees are very common in temperate and boreal biomes
because the trees grow quickly, providing a constant, cheap source of
timber.

Coconut

Coconut plantations can be found in 80 countries worldwide,
mostly in humid, warm climates. Over 61 million tons of coconuts are
produced each year! Coconuts grow high up, so in many countries
farmers climb the trees to harvest them. In other countries, such as
Thailand and Malaysia, people train pig-tailed macaque monkeys to
climb up the coconut palms, pick a coconut and then drop it down to the
people waiting below!
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TEXT 2
1. Read the text and complete the sentences with the appropriate
option of the word.
1. Forests are naturally very dynamic, meaning that they are
constantly ....
a) changing b) growing c) cutting.
2. There are some techniques used ... the forest appearance and
character.
a) to create b) to change c) to modify.
3. All trees in a certain ... are removed in one operation of clear-
cutting.
a) place b) territory c) area.
4. In many countries, clear-cutting is restricted by ...because it can
have a drastic effect on the ecosystem.
a) drafts b) laws c) plans.
5. Shelter woodcutting ... to remove old trees over a period of
several years to make way for younger trees.
a) is used b) is defined c) is designed.
6. Assisted regeneration ensures that temporarily bare ... is
covered by vegetation again.
a) ground b) land c) soil.
7. The death of a tree is caused by ... age, illness or competition
for nutrients, space sunlight, etc.
a) young b) medium c) old.

2. Read the text one more time and be ready to speak about
the main forest operations and their purposes.

FOREST OPERATIONS

Forests are naturally very dynamic, meaning that they are
constantly changing. A wildfire or a storm can create large openings,
allowing new plants to colonize these areas. The death of a tree (caused
by old age, illness or competition for nutrients, space and sunlight) can
create small openings. Sometimes, foresters attempt to mimic the result
of these major and minor events through forest management operations.
Here are some techniques used to modify the forest appearance and
character:

Clear-cutting
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All trees in a certain area are removed in one operation. It results
In a large open area, similar to the effect of a forest fire. In many
countries, clear-cutting is restricted by laws because it can have a
drastic effect on the ecosystem.

Selection cutting

In this technique, individual or small groups of trees are
strategically removed. Lesser quality trees are usually felled to give
more space to the larger and more commercially valuable trees. When
these latter trees grow large enough, they may be harvested.

Shelterwood cutting

This cut is designed to remove old trees over a period of several
years to make way for younger trees. Tree reproduction is encouraged
and some old trees are kept to provide initial protection and shade to the
sensitive new seedlings until they are strong enough to grow
independently.

Assisted regeneration

This technique ensures that temporarily bare land is covered by
vegetation again. Human interventions promote and accelerate the
establishment of vegetation (through seeds from mother trees or by
planting new species).

TEXT 3

1. Read the text and complete the following sentences using
the information from the text.

1. Forest degradation and deforestation can cause loss...

2. Damage to forests can have severe consequences ....

3. We rely on forest ecosystem services and forest products....

4. Some groups of people, including some indigenous peoples, are
especially dependent on ....

5. The loss of trees and other vegetation can cause ....

6. The lack of trees also allows a greater amount of greenhouse
gases ....

7. Deforestation leads to...

8. Forest regeneration can actually increase plant and animal ... .

2. Read the text one more time and speak about the causes and
consequences of forest loss.
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FOREST LOSS

Forest degradation and deforestation can cause loss of biodiversity
and the destruction of natural ecosystems, which isn’t just bad for
nature: damage to forests can have severe consequences for the people
who depend on them, too. We rely on forest ecosystem services and
forest products for our well-being, and even our survival! Some groups
of people, including some indigenous peoples, are especially dependent
on forest resources for building their houses and finding fuel, wood or
food. In summary, the loss or degradationof a forest can have
significant negative effects on:

. people’s well-being,

. people’s income,

. the environment.

The loss of trees and other vegetation can cause climate change,
desertification, soil erosion, fewer crops, floods, increased greenhouse
gases in the atmosphere

One of the most dangerous and unsettling effects of deforestation
Is the loss of animal and plant species due to their loss of habitat.

In addition to the loss of habitat, the lack of trees also allows a
greater amount of greenhouse gases to be released into the atmosphere.

The trees also help control the level of water in the atmosphere by
helping to regulate the water cycle. With fewer trees left, due to
deforestation, there is less water in the air to be returned to the soil. In
turn, this causes dryer soil and the inability to grow crops.

Further effects of deforestation include soil erosion and coastal
flooding. In addition to their previously mentioned roles, trees also
function to retain water and topsoil, which provides the rich nutrients to
sustain additional forest life.

However, healthy forests can be very resilient, recovering from
stressful situations or damages over time. Forest regeneration can
actually increase plant and animal diversity, and enable species best
adapted to that particular environment to become established. Thus the
temporary loss of trees is not always a bad thing from an ecological
point of view. However, continued degradation by humans over a long
time reduces the resilience of forests to natural threats and makes them
more vulnerable to irreversible damage.
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TEXT 4

1. Read the text and say if these statements are true or false.

a) Events that change the forest and the trees that grow within it are
called forest disturbances.

b) Disturbances have been shaping forests in different ways.

c) Permanent removal and the decrease in the area of a forest is
called reforestation.

d) When the forest is lost, many of the other life forms that lived and
depended upon the forest appear.

e) Degradation of a forest is defined as a decrease in the quality of
the condition of a forest, although the forest area remains the same
size.

f) Damaging or removing organisms and wildlife in large numbers
changes the balance of the ecosystem.

g) Many natural forest disturbances are becoming more intense due
to human’s actions.

h) A decrease in the quality of the forest could mean a less healthy
forest, a forest with fewer species, or a forest with fewer useful goods
and services for humans to use or sell.

2. Read the text one more time and make its summary using
phrases on p.

WHAT CAUSES FOREST LOSS?

Events that change the forest and the trees that grow within it are
called forest disturbances. For millions of years, disturbances have been
shaping forests in different ways. These can be classified depending on
their:

 duration — from seconds to months;
 impactlevel — from leaf damage through to tree death;
 origin — natural or humanzo

Whether the origin of the forest disturbance is human or natural
can have major consequences on the future of the affected forest. Many
human activities permanently convert forest land into land that can be
used for other purposes, such as agriculture. Permanent removal and the
decrease in the area of a forest is called deforestation. When the forest
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Is lost, many of the other life forms that lived and depended upon the
forest disappear too. Some species can adapt to the new environment,
but many others cannot and need to find new habitats in which to live.

Another type of forest disturbance is degradation. Degradation is
defined as a decrease in the quality of the condition of a forest, although
the forest area remains the same size. A decrease in the quality of the
forest could mean a less healthy forest, a forest with fewer species, or a
forest with fewer useful goods and services for humans to use or sell. It
can be caused by natural forces (e.g. wildfires and landslides) and when
humans overuse or overexploit forest resources. For example, damaging
or removing organisms and wildlife in large numbers changes the
balance of the ecosystem.

Degradation is a complex issue, and much more difficult to
observe and measure in comparison to deforestation. Natural and
human forest disturbances, although different, are also linked. Many
natural forest disturbances are becoming more intense due to human
actions. For example, climate change is causing an increase in the
number and strength of extreme weather events, such as droughts, that
can put severe stress on forests, which can’t adapt quickly enough, and
cause the loss of species.

TEXT Ne 5
1. Read the text and say if these statements are true or false:

a) The tree rings can tell us how old the tree is, and what the weather
was like during each year of the tree’s life.

b) Trees are sensitive to local climate conditions, such as rain and
temperature.

c) The light-colored rings represent wood that grew in the late
summer and fall and early summer, while the dark rings represent
wood that grew in the spring.

d.) One light ring plus one dark ring equals one year of the tree’s
life.

e) Tree rings usually grow wider in warm, wet years and they are
thinner in years when it is cold and dry.

f) Scientists can compare modern trees with local measurements of
temperature and precipitation from the nearest weather station.

73



2. Read the text one more time and explain why it is so
important to study tree rings.

TREE RINGS

The characteristics of the rings inside a tree can tell scientists how
old a tree is and what the weather conditions were like during each year
of that tree’s life. Very old trees can offer clues about what the climate
in an area was like long before measurements were recorded.

One way that scientists use trees to learn about past climate is by
studying a tree’s rings. If you’ve ever seen a tree stump, you probably
noticed that the top of the stump had a series of rings. It looks a bit like
a bull's-eye.

These rings can tell us how old the tree is, and what the weather
was like during each year of the tree’s life. The light-colored rings
represent wood that grew in the spring and early summer, while the
dark rings represent wood that grew in the late summer and fall. One
light ring plus one dark ring equals one year of the tree’s life.

FIRST YEAR GROWTH
RAINY SEASON
DRY SEASON

SCAR FROM FOREST
FIRE

SPRING/EARLY
SUMMER GROWTH

LATE SUMMER/FALL
GROWTH

Because trees are sensitive to local climate conditions, such as
rain and temperature, they give scientists some information about that
area’s local climate in the past. For example, tree rings usually grow
wider in warm, wet years and they are thinner in years when it is cold
and dry. If the tree has experienced stressful conditions, such as a
drought, the tree might hardly grow at all in those years.
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Scientists can compare modern trees with local measurements of
temperature and precipitation from the nearest weather station.
However, very old trees can offer clues about what the climate was like
long before measurements were recorded.

TEXT 6

1. Read the text and complete the sentences.

1. Wood is a part of the system that ...

2. Wood-producing forest trees and other woody plants are of two
types...

3. Gymnosperms, or cone-bearing trees, produce softwoods ...

4.Wood is a material of ...

5. Angiosperms produce temperate and tropical hardwoods...

6. Wood is found throughout the world and can be sustainably
managed as ...

7. The consumption of wood exceeds by far...

8. More than half of roundwood (log) production is consumed as

9. Production of paper and paperboard has shown the most rapid
increase ...

10. Efforts to stop the reduction of Earth’s forest cover and
increase the productivity of existing forests ...

2. Read the text one more time and answer the following
guestions.

1. What functions does wood perform?

2. What are two types of wood-producing forest trees?

3. What trees are producers of hardwoods?

4. What trees produce softwoods?

5. Is wood a material of great economic importance? Can you

prove it?

6. How do people utilize wood?

7. What actions can ease the problem of wood supply and help to

lessen the environmental toll of the lumber industry?

GREAT ECONOMIC IMPORTANCE OF WOOD
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In botanical terms, wood is part of the system that
conveys water and dissolved minerals from the roots to the rest of
the plant, stores food created by photosynthesis, and furnishes
mechanical support. It is produced by an estimated 25,000 to 30,000
species of plants, including herbaceous ones, though only 3,000 to
4,000 species produce wood that is suitable for use as a material.
Wood-producing forest trees and other woody plants are of two
categories: gymnosperms and angiosperms. Gymnosperms, or cone-
bearing trees, produce softwoods, such as pine and spruce, and
angiosperms produce temperate and tropical hardwoods, such
as oak, beech, teak, and balsa. It should be noted that the distinction
implied by hardwood and softwood is not true in all cases. Some
hardwoods—e.g., balsa—are softer than some softwoods—e.g., yew.

Wood is a material of great economic importance. It is found
throughout the world and can be sustainably managed as a renewable
resource—in contrast to coal, ores, and petroleum, which are gradually
exhausted. By means of its harvesting in forests, its transportation, its
processing in workshops and industries, and its trade and use, wood
provides jobs and supports economic development and, in some
countries, basic subsistence. Indicative of this importance is the
continued high demand for wood and wood products.

On a weight basis, the consumption of wood exceeds by far that
of other materials. More than half of roundwood (log) production is
consumed as fuel, mainly in less-developed countries. Production of
paper and paperboard has shown the most rapid increase among wood
products; this trend is expected to continue as consumption per person
in the less-developed countries approaches that in the developed
nations. Rising world population is the driving force of increasing
consumption of wood and consequent deforestation.

The depletion of many forests, especially in the tropics, makes
uncertain the provision of an adequate wood supply to satisfy the
anticipated need. Efforts to stop the reduction of Earth’s forest cover
and increase the productivity of existing forests, establishment
of extensive reforestation programs and plantations of fast-
growing tree species, recycling of paper, and improved utilization of
wood through research could ease the problem of wood supply and help
to lessen the environmental toll of the lumber industry.
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absorb (v)
adapt (v)
additive (v)
agent (n)
altitude (n)
application (n)
anchor (v)
availability (n)
abundant (adj)
ax (n)

bark (n)
beech (n)
beam (n)
birch (n)
bleach (v)
boreal (adj)
branch (n)

broad-leaved(ad))

bush (n)
bucking (ger)

cambium (n)
canopy (n)
cedar (n)
cell (n)

circumstance (n)
clear-cutting (ger)

competitor (n)

ESSENTIAL VOCABULARY

A

— YCMOKTYBaTH; IMOTJINHATH
— IPUCTOCOBYBATHUCS, alallITyBaTHCS
— nobaBka
— YHHHUK
— BUCOTA HaJ PIBHEM MOPs
— 3aCTOCYBaHHS
— 3aKpimIroBaTh(cs)
HasBHICTh; JOCTYIHICTh
pACHUM, OaraTui
COKHpA

B

— Kopa (aepesa)

— OyK

— Oanka

— Oepe3a

— BIAOUTIOBAaTH

— MIBHIYHUN, apKTUYHUM
— T1IKa

— IIUPOKOJIMCTUN

— Kyl

— 3TUHAHHA, BUTUHAHHS

C

— KamO1i

— ToJiorT (HaMeT)

— Kenp

— KJIITHHA

— o0cTaBUHM, YMOBU

— CyIIJIbHA pyOKa Jiicy
CyNEepHUK, KOHKYPEHT
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https://www.britannica.com/dictionary/abundant

composition (n) CKJIaJ, CTPYKTypa

coniferous(adj) XBONHUMN
conversion (n) IEPETBOPECHHS
crawler (n) I'YCCHHYHA TeXHIKa
curve (V) BUKPUBJIATH(CS). BUTUHATHCS
craggy(adj) — CKEJISICTUI
chipping (ger) — BIJKOJIIOBaHHS
chisel (n) — JI0JI0TO, 3yOHJI0
chips (n) — CTpYyXKa
D
debarking (ger) OKOPIOBAaHHS
deciduous (adj) — JINCTSIHUH, JIMCTOIIATHHH
decomposer (n) — peYOBHHA, IO po3KiIanae (Mo-HeOyab)
Ha CKJIAJIOB1 YaCTUHU
decrease (n) — 3MCHIIICHHS
definition (n) — BHU3HAYCHHS
defoliation (n) — BTpAaTa JIUCTSI
deforestation (n) BUpYOKa JIicy (3HETICHCHHS)
degradation (n) Jerpaalis, mOripIICHHS
density (n) IIUTBHICTD
desertification (n) NIEPETBOPEHHS B ITyCTEITIO
destruction (n) SHUIICHHS
determine (V) — BU3HAYATH
deviation (n) — BIIXWICHHS
disappear (V) 3HUKATH
distinct(ad)) JITKHH
disturbance (n) — TIOpYIIICHHS PiBHOBAaru
diverse (adj) — PI3HOMaHITHUH
diversity (n) PO3MAiTICTh; PI3HOMAHITTS
downpour(n) 3]IMBa
downstream (adv) — BHM3 32 TEUIEI0
drought (n) — mocyxa
duration (n) — TPHUBAJICTh
delimbing (ger) oOpi3aHHS CYy4KiB
E
elm(n) B's3

enable (v) JaBaTH MOYKJIUBICTh



enemy (n)
environment (n)
epiphyte (n)
eradicate (V)
evergreen (n)
exceed (V)
exclude (from) (v)
exposure (to) (n)
external (adj)

female (ad))

fell (v)

feller (n)
feller-skidder (n)
furniture (n)
fern (n)

fir (n)
fibreboard (n)

flood (n)

flower (n)

force (n)

fuel (n)

fungi (pl Bix fungus) (n)

glue (n)
grinding (ger)
growth (n)

habitat (n)
handsaw (n)
hardy (adj)
hazard (n)
heartwood (n)
height (n)

BOpOT

— CepeJloBHUIle, OTOUYCHHS
— emidit

— 3HUIYBaTH; BUKOPIHIOBATH
— BIYHO3€JIEHA POCIIUHA

NepeBepUIyBATH

— BWJIyYaTH; BUKIIFOYATH
— TJaBaHHS 30BHIITHLOMY BILUIUBY
— 30BHIIIHIA

F

— KIHOYHUH

— pyOartu (BajuTH) AepeBa
— Jmicopy0, ApoBOpyO

— TPENIOBABHUK ACPECBUHU
— Me0bmm

— TIAIOPOTh

SITALTS

JIBII, nepeBOBOJIOKHUCTA TIUTA

— IIOBIHb
—_ KBITKa
— 3YCWJLISA, CUJIa

ITAJINBO, TTaJIbHE

— rpubOK

G

KJICH, KICITH

nutiyBaHHs, MOP10IEHHS

pict
H

OPUPOJIHE CEPEIOBUILIEC
pyyHa TuIa
MOPO30CTiiiKa pociiuHa
HeOe3neKa

ceplieBUHA

BHCOTA
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hemisphere(n)
herb (n)

holly (n)
homogeneous (adj)
host (n)

humidity (n)

identify (n)
impact (n)
indigenous (adj)
induced (adj)
infestation (n)
interact (V)
internal (adj)
irreversible (adj)
issue (n)

landscape(n)
landslide (n)
latitude (n)
layer (n)
leafless(ad])
length(n)
lichen(n)
litter (n)
loading (ger)
log (n)
lowland(n)
low-lying(adj)
lumber (n)
lustre (n)

measure (V)

M1BKYJIS

TpaBa

najy0; roCTpOIUCT
OJTHOP1THUI
Xa3siH

BOJIOTICTh

BU3HAYATH
BILIMB; HACIIIKHU

MICII€BUI, KOPIHHHI
BUKJIMKAHUM, COPUYUHECHUN
1HBAa31s; 3apakeHHS ITapa3uTaMHu

B3aEMOIISITH
BHYTPIIITHIN
HEOOOPOTHUIM
MUTaHHS, TpodiIeMa

L

— naHamadT

— 3CyB, 00Baj

— IIApOTa

— map

— Oe3nucTui

— JIOBKHMHA

— JIUIIIaNHUK

— JIICOBA IMACTHIIKA
— 3aBaHTaKCHHS
—KoJoJ1a

— HHA30BHHA, HU3bKa MICIICBICTb,
— SKUH HU3BKO PO3TALLIOBAHUM
— TuJoMaTepianu
— Omuck

M

BUMIPIOBATH
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https://www.merriam-webster.com/dictionary/homogeneous
https://www.britannica.com/technology/lumber

maple (n)
mature (adj)

meristem (n)
moderate (adj)
moss (n)

needle (n)

neighboring (adj)

nutrient (n)

oak (n)
observe (V)
occur (v)
occurrence (n)
orchard (n)
outer (adj)
overexploit (v)

permanent (adj)
particleboard (n)
particle (n)
preliminary (adj)
persistent (ad))
phloem (n)

pine (n)

pole (n)

piling, pile (n)
pollen (n)
pollution (n)
preventing (ger)
protect (V)
protective (adj)

plywood (n)

— KJIEH
— JOPOCIU, 3pinuit

— MepucTema
— TOMIpHHU
— MOX

N

—XBOS1, TOJIKU (COCHU)
— CYMDKHUHU, TPUIICTIINN
— TIO’)KMBHA PEYOBUHA

O

— CIIOCTEpIraTu, CTEKUTH
— TparuIsiTUCs, BIIOYyBaTUCS
SIBUIIIC
— ¢pyKkTOBHH caj
— 30BHIMIHIA
IepEeBUTPAYATH IIPUPOJIHI pECypCcH

P
— TMOCTIMHUMN, TOBTOCTPOKOBUI

— JCII, nepeBocTpy)KOBa IJIUTa

— YacTKa, 9aCTOYKa

— mnomnepeaHii

— TOCTIMHUMN

— (oema

— COCHa

— CTOBII, XXepANHA

— cBad

— TIUJIOK

— 3a0pyIHEHHS JOBKIJIIS
— 3ano0iraHHs, MONEePeIKEHHS

— 3axXHUILIaTu

— 3aXUCHUU

— danepa
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pulp (n)
paperboard (n)
pulpwood (n)
processing (ger)

rainfall (n)
rainwater (n)
regenerate (v)
regeneration (n)
remain (V)
remnant (n)
removal (n)
replace (v)
retain (v)
residues (n)

sapling (n)
sapwood (n)
sawdust (n)
seed (n)
severe (adj)
Shed (v)
shrub (n)
shrubbery (n)
significant (ad))
single (ad))
skidding (ger)
shears (n
solidify (v)
solution (n)
solid (ad))

sound-insulating (adj)

spare (V)
species (n)
spruce (n)
stand (n)

— IICJTI0JI03a
— KapTOoH

— TIICITFOJIO3HA JICPEBUHA
— TmepepoOka

R

— arMocdepHi Omaju;
JI0III0Ba BOJIa

— pereHepyBaTH; BITHOBIIOBATH
pereHepailisi, BiIHOBJICHHS

— 3aJMIIaTUCS

— 3aJIMIIOK, PEIITKa

— BHJIAJICHHS

— 3aMIHATU

— yTpumMmyBaTH; 30epiratu

— PpEUITKU

S

— TIar1H, MOJIOJIHNK
— 3a00JI0Hb
— THpca
— HaCIHMHA
CEpUO3HUM, CUIIbHUI
— ocunarucs (IIpo 3epHO, JTUCTS)
— YarapHUK, Ky
— YarapHHK, YarapHUKOBI HaCa[KEHHSI
Ba)KJIUBUU
— €IUHHUM
— 3aHECEHHSA
— HOXHUIN
— TBEPAHYTHU
— PO3YHUH
— MILHUHN, TBEPIUM
— 3BYKOI30JISIIIIMHUT
— OeperTtu, 30epiratu
BU/I, TIOpOJa
SITAHA
— JIepEeBOCTaH
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https://www.britannica.com/technology/paper-pulp
https://www.britannica.com/dictionary/shears

stem (n) CTOBOYp, cTE0IJI0

stretch (n) — JiIsSHKA
stunted (adj) — HU3bKOPOCIUI
survey (n) — JTOCHIHKCHHS
survival (n) BIDKABAHHS
susceptible (adj) — YyTJIMBUHN; Ypa3IUBHM
susceptive (adj) — ypasJIMBHH, Uy TIUBUHL;
softwoods (n) — XBOWHI IOPOAH
stump (n) — TICHB
sawmill (n) — JIICOITHJIKA

T
taproot (n) — CTPW)KHEBUH KOPiHb
temperate(adj) OMIpHUI
texture (n) — TEKCTypa
thickness (n) — TOBIIMHA
threat (n) HeOe3meka
timber (n) — JicomaTtepiall, OyaiBeJIbHUH JIiC
tissue (n) — TKaHUHA
topsoil (n) — BEpXHIH I1ap IPyHTY
transpire (V) — BUIIAPOBYBATHUCS
transport (v) — TMEPEHOCHUTH
tree (n) — JIepeBo
trunk (n) — CTOBOYp

U
uniform (adj) — OJIHOP1AHUH
urban (adj) — MICBKHI

\/

valuable (adj) — JIOpOTHIA
vegetation (n) — POCIIMHHICTb
veneer (n) — IIITTOH
vulnerable (adj) ypa3JIuBHMA

w


https://www.britannica.com/topic/softwood
https://www.britannica.com/technology/sawmill

watershed (n)
wooded (adj)
weaken (V)
willow (n)

wood (n)
woodworking (n)

BOJIOPO3TOA1T

JTICUCTUM

0CJIa0JIsATH; 3HUKYBATH €(DEKTUBHICTh
BepOa

— JlepeBUHA
00po0OKa epeBUHU
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SPEAKING PHRASES:

To express your opinion

As far as I know...

To my mind

In my opinion ...

As far as | am concerned,

It seems to me that ...

| would say that ...

| dare say that ...

It goes without saying that ...
| have no doubt that ...

To express your agreement

| share your view.
Fair enough!

| have no objection.
You are quite right

To express your disagreement

| take a different view.

| think otherwise.

| am afraid that is not quite true.

| don't share your view. | don't think so.
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USEFUL PHRASES FOR ABSTRACT WRITING

The text * is about...
(story, article, ...) * deals with...
* presents. ..

* describes...

In the text * the reader gets to know...
(story, article, ...) » the reader is confronted with...
» the reader is told about...

The author * says, states, points out that...

(the narrator) » claims, believes, thinks that...
» describes, explains, makes clear that...
* uses examples to confirm/prove that...
» agrees/disagrees with the view/thesis...
* contradicts the view ...
» criticises/analyses/ comments on...
* tries to express...
* argues that...
* suggests that...
e compares Xto Y...
» emphasizes his thesis by saying that...
* doubts that...
* tries to convince the readers that...
* concludes that...

About the structure of a text:

- The texts consists of.../may be divided into...

* The introduction goes as far as line.../ In the first
paragraph/exposition the author introduces. ..

* In the second part of the text/ paragraph ...

» Another example can be found in line...

» As aresult...

* To sum up/ to conclude...

* In the conclusion, starting from line..., the author sums up the main
ideas/ thesis...

* In his last statement the author concludes that...
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TPAMATHYHUM JJOJIATOK

3AUMEHHUKHA

(Personal) ocooosi

Ha3. Bigm. OO0’ ekTHHH BigM.
| me
You you
" He him
She her
It it
We us
(Possessive) mpucsiiini
Ipuxkm. popma ImenHn. popma
my mine
you yours
| his his
| her hers
its its
our ours
their theirs

(Reflexive) 3BopoTHni

myself ourselves

yourself yourselves
| himself themselves
| herself

itself

(Demonstrative) Bka3iBHi

OnxauHAa Muoxuna
> this these
that those
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CTYIIEHI MNIOPIBHAHHSA ITPUKMETHUKIB

3Buvaiinuii . . N . .
) Buiuii cryninb HaiiBuiuii CTyniHb
CTYIiHb
I. CuaTeTuyHUii crocio
OaHoOCK/I210BI NPUKMETHUKHA
or (the) kindest
kind (mo6pwuit) Kinder (oOpirwit) (HamOOpimIniA)
-est . o . . o .
big (Bemukwuii) bigger (OimbIrmii) (the) biggest
(HAOLTBIITHTA)
JIBOCKJIaI0Bi NPHUKMETHHKH, SIKi 3aKiHYYIOThCS HA —€r, -0W, -Y, -ble
(the) cleverest
clever (3mi0HuiA) cleverer (3miOHImIMIT) (Ha310HIIIMiN)
-er easy (J1erkwii) easier (yiermmii) (the) easiest
-est (Hamermmii)
II. AHaJIiTHYHUH CIIOCIO
Inmi 1BOCKJIa0BI IPUKMETHUKH
more/ : _ ! )1_ p :
active (akTuBHUI) more active (6ibm (the) most active
(the) AKTUBHUMN ) (HallaKTUBHIIIIHN )
most IIpukMeTHUKH 3 ABOX i OlyIbIIIe CKJIAIIB

beautiful
(mpekpacHwmii)

more beautiful
(mpekpacHimii)

(the) most beautiful
(HafpexpacHiIIHii)

Oco011BI BUIIAIKM YTBOPEHHS CTYIEHIB MOPiBHAHHSA PUKMETHUKIB

good (rapHwmii)

bad (nmoranmit)

little (ManeHbKuiA)

much, many

far (manexwuii)

old (crapwmii)

better (kpamruit)

worse (ripimuii)

less (MeHIImiT)

more (OibIiIe)

farther (0inbin ganexuit)

further (0inpm ganexkui,
MOJAJBIIN)

older (crapuuit)

(the) best
(HaMKpaImii)

(the) worst
(HAHTIpIIHIN)

(the) least
(HAIMEHTIIHIT )

(the) most
(b 3a Bee)

(the) farthest
(HakgaIbIIMi)
(the) furthest
(Hal TayIbIIMi )

(the) oldest
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(Haricrapiuit)
elder (crapmmii i3 wreniB | (the) eldest
ciM’1) (Ha¥icrapiuii 13
YJICHIB CiM 1)
YUCJIIBHUK
KinbkicHi IMopsiakoBi
1-—one first
2 —two second
3 —three third
4 — four forth
5 —five fifth
6 — six sixth
7 — sever seventh
8 —eight eighth
9 —nine ninth
10 —ten tenth
11 —eleven eleventh
12 — twelve twelfth
13 —thirteen thirteenth
14 — fourteen fourteenth
20 — twenty twentieth
21 — twenty one twenty first...

89



30 — thirty thirtieth

40 — forty fortieth

50 — fifty fiftieth
100 — a hundred hundredth

300 — three hundred

three hundredth

563 — five hundred
and sixty three

five hundred
and sixty third

1000 — a thousand

thousandth

5000 — five thousand

five thousandth

1000000 — a million

millionth
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Present Simple Tense

BoxuBaeThcst i1 BU3HAYCHHS Tii: 3BHUAHO1, TIOCTIMHOI, TPUTAMAHHOI ITiIMETY,

TOOTO A1, 0 BiAOYBA€ETHCS B3araii, a HE B MOMEHT MOBJICHHS.

BiagminroBaHHS [i€ciioBa
B Present Simple Tense

I
We
You

They
He
She
It

translate

translates

OO0craBuHM 4acy:

usually — 3a3Buuaii
always — 3aBxau
sometimes — iHKoIu
seldom — piako

often — yacro

as a rule — six mpaBUITO
every day — KO>KHOTO JTHSI
every week — KO)KHOTO THIKHS
every month — xo>xHOTo MicsIs
Jonomixkue aiecaoso mis 111 ocoon ogaunm — dOes, 1y Beix 1HmuX ocio — do

Bumu peuens B Present Simple Tense akTuBHOTO cTaHy

Peuenns ITutanus
pPO3MOBIJHI | 3all€peuHl | 3arajibHi | aJIbTEPHATHBHI | CHELlaJbHl | PO3ALIOBI
You read You do Doyouread | Do youread |Whatdo You don’t
books every | not (don’t) | books every | books or you usually | read
day. read books | day? -Yes, magazines read every | books
every day. | wedo. (No, |every day? day? every
we don’t.) day, do
you?
The bird The bird | Does the Does the bird | Where does | The bird
flies south | doesnot | bird fly fly south or | the bird fly | flies
every (doesn’t) | south every | east every every south
autumn. fly south | autumn?- autumn? autumn? every
every Yes, it does. autumn,
autumn. (No, it does doesn’t
not). it?
Heis a Heisnot |Ishea Is he a painter | What is he? | Heisa
painter. (isn’t) a painter?-Yes, | or a sculptor? painter,
painter. he is. (No, he isn’t he?
isn’t).
They They Do they Do they When do They
usually usually usually have | usually have | they usually | don't
have have no breakfastat 8 | breakfast at 8 | have usually
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breakfast at
8 a. m.

breakfast
at 8 a. m.

a.m.”?

a.m.orat9
a.m.?

breakfast?

have

breakfast
at 8a. m.
do they?
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Past Simple Tense

BoxuBaeThcs 11 BupaxkeHHs (DaKTiB, AiH, M0 BIAOYIUCS B MUHYJIOMY

BingminroBaHHS [i€ciioBa
B Past Simple Tense

| A
We
You
They ,
He
She
it/

Jomowmixae miectoso did

translated — crangapTHi miecioBa

went — HecTaHAAPTHI JHECTIOBA

(Il cr. TabmMII HECTAH/T, TIECITIB)

OO0craBuHM Yacy:

yesterday — Buopa
the day before yesterday — mo3as4opa
last week — MHHYIJIOTO THIKHS

last month — Mmunyoro micsis

last year — Munyoro poky

a week ago — TkIeHb TOTOMY
a month ago — micsipb MoToMy

Bumu peuens B Past Simple Tense aktuBHOTO CTaHy

Peuenns [Tutanns
pPO3MOBIJHI | 3all€peyHl | 3arajibHi | aJIbTEPHATHBHI | CHELlaJbHl | PO3ALIOBI
You You did Did you Did you What did You
translated not translate translate texts | you didn’t
texts (didn’t) texts or articles translate translate
yesterday. |translate | yesterday? | yesterday? yesterday? | texts
texts —Yes, we yesterday,
yesterday. | did. (No, we did you?
didn’t).
Pete and Peteand | Did Pete Did Pete and | Where did | Pete and
Helen went | Helen did | and Helen | Helen go to Pete and Helen
to the not go to the the theatre or | Helengoto | wentto
theatre last | (didn’t) go | theatre last | to the last the
Tuesday. to the Tuesday? — | museum last | Tuesday? theatre
theatre last | Yes, they Tuesday? last
Tuesday. | did. (No, Tuesday,
they didn’t). didn’t
they?
Shewasa |Shewas |Wasshea |Was sheor What was | She was a
student not student three | was he a she three student
three years | (wasn’t) a | years ago? — | student three | years ago? | three
ago student Yes, she was. | years ago? years ago,
three years | (No, she wasn’t
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ago wasn’t) she?
They had They Did they Did they have | When did They
breakfast didn't have breakfast or | they have didn't
an hour ago | have breakfast dinner an breakfast? | have
breakfast | an hour hour ago? breakfast
an hour ago? — Yes, an hour
ago they did. ago, did
(No, they they?
didn’t)

Future Simple Tense

BoxuBaerbest yist BupakeHHst (JakTiB UM JIii, 0 BIIOYIYThCS y MAHOYTHEOMY.

BiaMiHroBaHHS Ji€ciioBa

B Future Simple Tense

OO6craBuHM yacy:

I } will tomorrow — 3aBTpa
We the day after tomorrow — micns3zaBTpa
next week — HaCTYITHOTO THIKHS
You translate next month — HacTymHOTO MicCSIIs
They next spring — HacTymHOi BECHU
He + will in an hour — 3a rogumy
She In a year — 3a pik
It |
Bumu peuens B Future Simple Tense aktuBHOTO CTaHy
Peuenns IIutanns

PO3IOBIAHI | 3amepeyHi 3arajibHi | aJIbTEPHATHBHI | CHCIIalibHI | PO3JI1JIOBI
We will We will not | Will we Will we learn |What will we | We won’t
learn new  (won’t) learn new new words or [learn learn new
words learn new | words rules tomorrow? | words
tomorrow. words tomorrow?- | tomorrow? tomorrow,

tomorrow. | Yes we shall we?

shall. (No,
we shat’d. | \ujil the bird The bird

The bird The bird | Will the fly back from | Where will | will fly
will fly will not bird fly the south or | the bird fly | back from
back from | (won’t) fly | back from | from the east | back from | the south
the south back from | the south next spring? | next spring? | next

94




next spring | the south | next spring,
next spring?- won’t it?
spring Yes, it will,
(No, it
won’t)
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Present Continuous Tense

BixuBaeThcs A1 BUSHAYEHHS J1iid, 110 BiIOYBAIOTHCS B MOMEHT MOBJICHHS.

BigmiHroBaHHS Ii€ciioBa

B Present Continuous Tense

Oo0craBuHM yacy:

| am now — 3apas
We at the moment — B eit MoMeHT
You . are - i currently -- napasi
They translating
He
She; is
It
Bunu peuens B Present Continuous Tense
Peuenns [Iutanns
PO3MOBIJHI | 3all€peyHl | 3arajbHl | aJIbTEPHATHUBHI | CHEIlalbHI | PO3ALIOBI
They are They are | Arethey | Are they What They
speaking not speaking | speaking language aren’t
English (aren’t) English English or are they speaking
now. speaking | now? — German now? | speaking English
English Yes, they now? now, are
Now. are. (No, they?
they
aren’t).
Pete is Pete is not | Is Pete Is Pete Where is Pete is
working at | (isn’t) working at | working at Pete working in
the library | working at | the library | the library or | working at | the library
at the the library | at the at home at the | the at the
moment at the moment? | moment? moment? moment,
moment | — Yes, he isn’t he?
IS
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Past Continuous Tense

BokuBaeThcs st BUpaXKEHHS /i, 110 BiIOYBaIUCs B KOHKPETHUH MOMEHT

4acy B MUHYJIOMY.

BiagminroBaHHS A1€ciioBa

B Past Continuous Tense

OO0craBuHM yacy:

at 3 p.m. yesterday — Buopa o 15-ii roauHi

I
He from 6 a.m. till 11 a.m. the day before
She [ was yesterday — mo3aBuopa 3 6-1 10 11-i paHky,
It Participle | a0o ixmra ais B muaysomy (While Ann was
We translating cooking, he was reading a newspaper)
You » were
They
Buau peuens B Past Continuous Tense akTHBHOTO CTaHy
Peuenns [Tutanns
PO3MOBIJHI | 3all€peyHl | 3arajbHl | AJIbTEPHATHBHI | CHELIaJbHI | PO3.IIOBI
They were | They were | Were they | Were they What were | They
translating | not translating | translating they weren’t
texts at 2 (weren’t) |textsat2 |[textsat2orat |translating | translating
p.m. translating | p.m. 3p.m. at 2 p.m. texts at 2
yesterday. |textsat2 |yesterday? | yesterday? yesterday? | p.m.
p.m. yesterday,
yesterday. were they?
He was He was Was he Was he or was | How long | He was
writing a not writinga | she writinga | was he writing a
letter from | (wasn’t) letter from | letter from last | writing a letter from
last Monday | writinga | last Monday till letter? last
till last letter from | Monday last Saturday? Monday
Saturday. last till last till last
Monday | Saturday? Saturday,
till last wasn’t he?
Saturday.
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Future Continuous Tense

ByxuBaeThcs st BUpaXKEHHS /i1, 110 BITOYJAETHCS B KOHKPETHUH MOMEHT

4yacy B MailOyTHbOMY.

BiagminroBaHHS [i€ciioBa

B Future Continuous Tense

I )
}WI”
We

You
They
He
She
It

> will

Bunu peuens B Future Continuous Tense akTuBHOTO CTaHy

be +translating (P1)

Oo0craBuHM yacy:

at 3 p.m. tomorrow — 3aBtpa o 15-i

roJI.

from 5 till 7 p.m. the day after

tomorrow — 3 17-1 no 19-i roguan

MICIIA3aBTpA.

Peuenns [Tutanns
PO3MOBIAHI | 3amepeyHi 3arajibHi | aJIbTEPHATUBHI | CHEIIAJIbHI | PO3ILIOBI
We shall be | We shall | Shall we be | Shall we be | What shall | We shan’t
translating | not translating | translating or | we be be
the articles | (shan't) be | the articles | looking translating | translating
at9a. m. translating | at 9 a. m. through the at9a.m. the articles
tomorrow. | articles at | tomorrow? — | articles at tomorrow? |at9a. m.
9a.m. Yes, we 9a.m. tomorrow,
tomorrow. | shall. (No, |tomorrow? shall we?
we shan’t).
The farmers | The Will the Will the How long The
will be farmers farmers be | farmers be will the farmers
picking up | will not picking up | picking up farmers be | will be
apples in (won’t) be | apples in apples or picking up | picking up
the garden | picking up | the garden | pears in the apples in apples in
from8a. m. | applesin | from8a. m. | garden from |the garden | the garden
till 7p.m. |thegarden [till 7p.m. |8a m.till7 |next from 8 a.
next from8a. | next p. m. next Saturday? | m.till 7 p.
Saturday m. till 7 p. | Saturday? — | Saturday? m. next
m. next Yes, they Saturday,
Saturday | will. (No, won’t
they won’t) they?
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BxuBaeThcsi IS BUP@KEHHS 3aKIHYCHOI i,

Present Perfect Tense

o0 3aBepuiwiiacs B

MOTIEPE/IHIN TepioJl JO MOMEHTY MOBJICHHS, ajie Mae Oe3lmocepeqHiil 3B 30K 3

TETEPIIIHIM MOMEHTOM.

BingmiHroBaHHS [i€ciioBa

B Present Perfect Tense

OO0cTraBuHM Yacy:

Just — TLIBKH 1110

| yet — e, Bxe
We _
have already — Bxe
You \ translated (P11) recently, lately — nenaBHoO
They
/ ever — KoJu-HeOyab
He never — Hikouu
She has this week — iporo THxHS
It
this month — rieoro micsg
(1HKOJIM MOMEHT i1 MOKe OyTH
HEBUPAKECHUM )
Bunu peuens B Present Perfect Tense
Peuenns ITutanus
PO3MOBIHI | 3allepeuHi | 3arajbHl | aJbTEPHATHBHI | CIEIIAbHI | PO3JILJIOBI
You have You have | Have you Have you What have | You
already not already already you already | haven’t
translated (haven’t) | translated translated the | translated? | translated
the text. translated | the text? — | text or the the text
the text Yes, we article? yet, have
yet. have. — (No, you?
we haven’t).
He has He has not | Has he Has he or has | Who has He has
passed the | (hasn’t) passed the | she passed passed the | passed the
exams this | passed the | exams this | the exams exams this | exams this
week exams this | week? — this week? week? week,
week Yes, he has. hasn’t he?
(No, he
hasn’t)
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Past Perfect Tense

ByxuBaeThcs A1l BUpaKEHHS 3aKIHUEHOT i, 110 Bi0yIacs 10 MEBHOTO

MOMCHTY B MUHYJIOMY Ta CHiBBiI[HOCI/IJIaCSI 3 UM MOMCHTOM B MUHYJIOMY, a4 HC 3

MOMCHTOM MOBJICHH:, TOOTO HE 3 Tel'[epiHIHiM MOMCHTOM.

BingmiHroBaHHS [i€ciioBa

B Past Perfect Tense

Oo0craBuHM yacy:

by 3 p.m. yesterday — Buopa 10 15-i rogusu

We by last Wednesday — no muny:oi cepenn;
You iamra ais B munyiaomy (When | came to Kyiv
They ¢ had +translated (P1I) my friends had already been there)
He
She
It
Buau peuens B Past Perfect Tense
Peuenns IIutanns
PO3MOBIJHI | 3allepeuHi | 3arajbHi | aJbTEPHATUBHI | CIEHIAJbHI | PO3JILJIOBI
She had She had Had she Had she What had She had
translated not translated translated the | she translated
the poem by | (hadn’t) the poem by | poem by last | translated the poem
last translated | last Thursday or | by last by last
Thursday. | the poem | Thursday? — | Friday? Thursday? | Thursday,
by last Yes, she hadn’t
Thursday. | had. (No, she?
she hadn’t).
John had John had | Had John Had John What had John
written the | not written the | written the John written | hadn’t
letter to his | (hadn’t) letter to his | letter to his by 4 p.m. written the
friends by 4 | written the | friends by 4 | friends by 4 | yesterday? | letter to
p.m. letter to p.m. or by 5 p.m. his friends
yesterday. | his friends | yesterday? | yesterday? by 4 p.m.
by 4p.m. |—Yes, he yesterday,
yesterday. | had. (No, he had he?
hadn’t).
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Future Perfect Tense

ByxuBaeThCs sl BUpaXKEHHS i1, 10 BIAOYAETHCS Ta 3aKIHUUTHCS PaHile

MIEBHOI'O MOMEHTY B MailOyTHEOMY.

B Future Perfect Tense

BingminroBaHHS [i€ciioBa

OO0craBuHM Yacy:

by next Thursday — no HacTymHOTO

I :
We} will yeTBepra
by 5 p.m. tomorrow — 3aBTpa 10
You have +translated (PII) 17
They -1 TOOUHU.
He b will (They will have studied the problem
She before they begin their practical work).
It
Buau peuens B Future Perfect Tense aktuBHOTO CTaHy
Peuenns IIutanns
PO3MOBIJHI | 3allepeyHi | 3arajibHi | aJIbTEPHATHBHI | CHEIliajdbHl | PO3/1IOBI
Mary will Mary will | Will Mary | Will Mary or | What will Mary will
have not have will Jane Mary have | not have
translated (won’t) translated have translated translated
the text by | have the text by | translated the | by next the text by
next translated | next text by next | Thursday? | next
Thursday. | the text by | Thursday? — | Thursday? Thursday,
next Yes, she will she?
Thursday. | will. (No,
she won’t).
Will the Where will | The bird
The bird The bird bird have Will the bird | the bird will have
will have will not flown back | have flown have flown | flown
flown back | (won’t) from the back from the | back from | back from
from the have south before | south or from | before trees | the south
south before | flown trees are in | the north are in before
trees are in | back from | blossom? — | before trees | blossom? trees are
blossom. the south | Yes, itwill |arein in
before (No, it blossom? blossom,
treesare | won’t). won’t it?
in
blossom.
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to be + Participle 1 (asked, written)

PASSIVE VOICE

(ITacuBHMIA cTaH)

Tense
(<b]
£
- SIMPLE CONTINUOUS PERFECT
| am ) | am ) She ~
She She He }has
He } IS He } IS
> asked > being asked || -
You You You been
B |we are We ~-are We [ have| asked
g | They ] — They _/ They D
)
H:J yeHe ) yeﬂe ) JT )
a | 1 Hozo
Hozo Hozo Mene
Bac, me6e> 3alIUTYIOTh | Bac, me6e> 3aIIUTYIOTh Bac, mebe > 3aIIUTATIH
Hac Hac Hac
Ix Ix Ix
/ / _/
| ™ | ) | )
She ~was She ~was She
He He He
> asked > being asked > had been
You You You asked
We ere We (were we )
| The ~ The - They
< I
a Mene — ~ Mene — ~ Mene
i i 1
Hozo Hozo Hozo
Bac, mebe >3aHI/ITaJII/I Bac, mebe > 3alUTyBaJIN Bac, mebe s 3anuTaim
Hac Hac {jlac
Ix ) Ix ) Ix P
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FUTURE

will
We
She >be asked
He will
You

_J
The
Memne I
Hac
i
Hozo >321HI/ITaIOTB
Bac, mebe
Ix
_J

will
We

\
She

> have

He > willl been asked

You

They J

Mene
Hac
T
Hozo

Bac, mebe

Ix )

>33HI/ITaIOTB
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MODAL VERBS
(MomanbHi aiecaoBa)

Present Simple

Past Simple

Future Simple

CAN
1) «MOXIIHUBICTHY»
They can come to us soon.
BoHM MOXyYTh ITpUNTH 110
Hac CKOpO.
2) «BMIHHS»
| can speak English well.
S BMi0 mo6pe
PO3MOBJISITH aHTJIHACHKOIO.

| cannot read Spanish.
i ue BMi}O YyuTaTu I110-
ICIIAHCHKH.
ExsiBaneur: to be able to
| am able to come.

COULD «wmir, mir 0u»

We couldn’t do it last
week.

Mu He Moru 3poOuTH
11C MHHYJIOT'O THYKHSI.

Could you help me do
this task?

Bu ne Morim 6
JIOTIOMOTTH MEHI 3p0OHUTH
11€ 3aBJaHHA?

was / were able to
| was able to do it
yesterday.

shall/will be able to
| shall be able to come
tomorrow.

S MOXy nipuiiTH S 3mir 11e 3poOuTH BUopa | Sl 3MOXKyY IMPUIATH 3aBTpa
MAY MIGHT shall/will be allowed to

1) «iiMOBipHICTH MOAIT 200
ii»
It may rain.
MoxauBo Oyjie 101,
2) «IpOXaHHS»
May | come in?

Mo>kHa MeH1 yBIATH?

«HAMOBIPHICTB 1O11i 00
i
It might be John.

Lle, moxuBo, JIx0H

| shall be allowed to
use the dictionary while
translating the text
tomorrow.

3aBTpa MeHi 103BOJISITh
KOPHUCTYBATHUCH
CIIOBHUKOM IIpH
nepeKyaal TeKCTy

MUST
1) «HEeoOX1IHICTh A1i»
He must do it in time.
Bin noBUHEH 3p0o0OUTH 11€
BUYACHO.
ExsiBanentu:1. to have to

«3MVYIIICHUI
He has to get up earty.

Bin 3Mymienuit pano
BCTaBaTH.
2)tobeto —
«3MYILIEHUHN 3pOOUTH 3T1THO
3 IUIaHOM 200
JIOMOBJICHICTIO

He had to do it yesterday.

Bin 3mymienwnii OyB
3poOHTH 11€ BUOpA.

He was to speak at the
meeting.
Bin noBuneH OyB

He will have to do it
next week.

Bin mycutsb 3po6utn
Iec HaCTyrIHOFO THUXXHSI
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| am to be at home at 5.

51 noBuHHA OyTH BIioMa
0 5-i1 roquHl
SHOULD
Coin 6ym0 6
You should do it.

Bawm criyt Gyiio 6 3pobutw 1ie.

(Teriep)

BUCTYIIUTH Ha 300pax

You should have done it.
Bawm caig 6yino 6 3pobutu
1e. (panirie)
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BE30COBOBI ®OPMMU A1€CJIOBA

Infinitive (3 yacTkolo f0) Gerund (-ing) Participle I (-ing) Participle II
Voice (cT. 2. —ed,
Active Passive Active Passive Active Passive feet. 1. =
Tenses 3 dopma
aicciaoBa)
Simm] to ask to be asked asking | being asked asking being asked asked
imple
P to write to be written writing | being written | writing being written written
to be asking
Continuous » - - - - - e
to be writing
to have been having having been having having been
to have asked
asked asked asked asked asked
Perfect e
to have been having having been having having been
to have written ) ) ) )
written written written written written
The use of non-finite forms of the verb
Yiienu Infinitive (to) Gerund (-ing) Participle I (-ing) Participle II (cT.
peYeHHsI . —ed, Heer. a. —

3 ¢popma
Ji€CJI0BA)

106



1. IligmeT To walk is useful Walking is useful
['yJIsTH — KOPUCHO
2. Yacruna | Our aim is to master Our aim is mastering English. | He is writing a letter. He has written a
NMPHCYIKA English. Hama meTta — 0BOJIOAiHHS Bin nume aucr letter.
Hama meTta — oBoIOITH AHTIIUCHKOK MOBOKO Bin Hanmcas ymcT
aHTJI1HCHKOK MOBOIO
3. Doxarok | She likes to sing She likes singing
Bomna moOuTh ciBaTu
4.03na4venns | The method to be used is Look at the trees The method used is
not new. growing in our garden. not new.
Merton, sikuii Tpeda [TonuBuCh Ha JepeBa, Merox, sikuii 6yB
BUKOPUCTATH, HE HOBUH SIK1 POCTYTh Y BUKOPHCTAHUI —
HaloMy CauKy METOJ HE HOBUU
5.06cTraBuHa | He went there to study. He went there for studying. (While) reading he made | When done, this

Bin mimoB tyau
HaBYaTUCS

Bin mimoB Tyau HaB4aTucs

notes.

Yurarouu, BiH poOUB
3alucu

work will give good
results.

Komu pobora

Oyae 3po0JieHa,
BOHA JIaCTh rapHi
pe3ynbTaTH
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IHOIHITUBHI KOHCTPYKHIT
Complex Subject

«CKIIagHUH TIMET»

JApyropsiai
[Tigmer [Ipucynox [ndiniTuB YJICHU ITepexnan
peUYeHHS
He is said to come to us ["oBOpSTH, IO BiH
IpUKIE 10 HAC
This farm | is known to have rich soil Binomo, 1o 1e
roCroIapCcTBO Mae Oararti
IPYHTH
They are expected | to work on the farm .
CnopaiBaroThCsl, 110 BOHU
OyIyTh IIpaIfOBaTH B
TOCTIOTapCTBI
This crop | is likely to give high yields

NmoBipHoO, 110 1151
KyJIbTYpa AaCTh BUCOKI
BpOKai

JiecnoBa, 10 BXXUBAIOTHCSA SIK IPUCYIOK:
B Passive Voice:

to report, to say, to know, to suppose, to state, to expect, to believe ta in. B Active Voice:

to seem, to appear, to be likely, to be unlikely, to be sure.
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Complex Object

“Ckiaaaui 1o0aaToK”’

ITigmer

[Ipucynox

JlonaTok,
BUPAKECHUN
IMCHHUKOM

abo
3aIMEHHUKOM
B 00’ €KTHOMY
BIIMIHKY

[HdinITHB

Apyropsiui
YJICHU
peYCHHA

[lepeknan
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They

expect

want

consider

them

you

us

to do

to work

to translate

it in time.

better.

this text.

Mn
CIIO1BA€EMOCH,
1[0 BOHH
3pO0JIATS 11e
BYACHO.

A xouy, m00 BU
IparoBaIN
Kpare.

Bonn
CIIOIBAIOTHCH,
110 MU
MEePEKIAAEMO LIEH
TEKCT.

Saw

heard

him

her

enter

sing

the house.

51 6aumB, sK BiH
BXOJIUB Y
OyIMHOK.

5 uyB, AK BOHa
criBaja.

to know, to want, to expect, to consider, to think, to suppose, to find, to believe ra in.

KoHcTpyKilis B)KUBA€THCS MICIA JI€CIIB (B aKTUBHOMY CTaHi):
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JIOBOTBOPEHHSA

I. Adikcanis

YacTtuHu MOBH IIpedikcanis

Cyddikcanis

1) imeHHUK counter:
counteraction anti:
antifascist over:
overproduction non:
nonconductor in:
inability ta in.

-er / -or (momaerncs 0 mieciis): doer

-ee (Bix mieciiB) — payee

-age (Bix mieciB) — marriage

-ance / -ence (Big MpuKMETHUKIB) — resistance
-dom (Bix iMmeHHHKIB Ta mpukMeTHUKIB) — freedom
-hood (Bix imennukiB) — brotherhood

-ion (-ation, -tion, -sion, -ssion) (Bix miecmis) — collection
-ment (Big miecniB) — development

-ness (Bix mpukMeTHHKIB) — coldness

-ship (Big mpuxkmerHukiB) — friendship -

ure (Bix mieciniB) — departure Ta iH.

2) un: unequal
NPUKMETHHK in (il): incomplete,
illegal dis: dishonest
non: nonessential post:

interdependent sub:
subconscious ultra:
ultra-short ta is.

post-revolutionary inter:

-able /-ble (Bix nieciB) eatable

-al (Bix imennukiB) central

-ant / -ent (six giecnis) different

-ful (Bix imennukis) beautiful

-ish: (Bix imenHuKiB Ta mpukMeTHHKIB) Danish, reddish
-ive: (Big mieciiB Ta MPUKMETHUKIB) active

-less: (Bix imennukiB) hopeless

-ous: (Bix imennukiB) glorious™ -

y (Bix imenHukiB) windy Ta iH.
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YacTuaum MOBH

Ipedikcanis

Cyopikcanis

Ii€cJI0BO

un: to undress dis: to
disapprove re: to re-
elect mis: to mislead to
over: to over-estimate
under: underpay
counter: to counteract
en: to enslave

-en (Big npukMeTHHKIB / iMeHHHKIB) tO Ssharpen
-fy (Bix nmpuxmeTHHKIB) to Simplify
-ize (Bix imeHnukiB) to characterize

I1. KonBepcis

a) iMeHHHK Ji€CJI0BO
answer to answer
work to work

0) AI€CTIOBO
NPUKMETHHA to clean
Kk Clean to empty
empty

II1. YepryBanus 3ByKiB (0yKB)
iMeHHMK Ji€CI0BO
use [ju:s] to use [ju:z]

life [laif] to live [li:v]

IV. 3mina naroJsocy
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export

to export

import

to import

V. Cl10BOCKJIAICHHA:

a) yrBopeHHsi iMmeHHuKka bed +
room = bedroom school + boy
= schoolboy father + in + law =
father-in-law

0) yrBOpeHHsI
npuxMeTHuka dark + blue
=dark-blue first + class =
first-class

B) YTBOpeHHSs JieciioBa White
+ wash = to whitewash
broad + cast = to broadcast
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IRREGULAR VERBS

(Criucox HempaBUIILHUX JTIE€CTIB)

be
become
begin
blow
break
bring
build
burn
buy
catch
choose
come
cost
cut
do
draw
drink
eat
fall
feed
feel
fight
find
fly
forget
freeze
get
give
go
grow
have
hear
hold
keep
know
lead
learn
leave

was, were
became
began
blew
broke
brought
built
burnt
bought
caught
chose
came
cost
cut

did
drew
drank
ate
fell
fed
felt
fought
found
flew
forgot
froze
got
gave
went
grew
had
heard
held
kept
knew
led
learnt
left

been
become
begun
blown
broken
brought
built
burnt
bought
caught
chosen
come
cost
cut
done
drawn
drunk
eaten
fallen
fed
felt
fought
found
flown
forgotten
frozen
got
given
gone
grown
had
heard
held
kept
known
led
learnt
left

oyTu

CTaTH, 3pOOUTHCS
nounHaTH(Cs2)

TyTH

namMatu(cs)
MPUHOCHUTH
OynyBaTu

TOpPITH, TATUTH
KyITyBaTH

JIOBUTH, CXOTITIOBATH
BUOUpaTH, 100MpaTh
MPUXOUTH
KOIITYBaTH

pizatu

poouTHn

TATTH, MAJTIOBaTH
TUTH

icTu

najgaTu

roTlyBaTH
ouyBaTH (cebe)
oopotucs, Outucs
3HAXOAUTH

JiTaTu

3a0yBaTu
3aMOpPOKYBaTU
OJIepKyBaTH; CTAaBUTH
JTaBaTH

1TH, XOIUTHU

pOCTH, CTaBaTU
MaTu

9yTH

TpUMaTH

TpUMaTH, 30epiratu
3HATH

BECTH

BUUTH(CS)
3aJIUIIaTH
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IIpoooesoicenns cnucky

let
loose
make
meet
pay
put
read
ride
rise
run
say
see
sell
send
shake
shine
show
sing
sleep
smell
speak
spend
stand
SWim
take
teach
tell
think
throw
understand
wake (up)
wear
win
write

let

lost
made
met
paid
put
read
rode
rose
ran
said
saw
sold
sent
shook
shone
showed
sang
slept
smelt
spoke
spent
stood
swam
took
taught
told
thought
threw
understood
woke (up)
wore
won
wrote

let

lost
made
met
paid
put
read
ridden
risen
run
said
seen
sold
sent
shaken
shone
shown
sung
slept
smelt
spoken
spent
stood
swum
taken
taught
told
thought
thrown
understood
woken (up)
worn
won
written

JTIO3BOJISITH
ryOUTH, BTpadaTH
poouTu
3yCTpIYaTUCs
IJIATUTH

KJIACTHU

YATATH

13IUTU BEPXU
BCTaBaTH, CXOJIUTH
oirTu

CKazaTu

OaunTH

poJIaBaTH
TTOCHUJIATH

TPSCTH

CSIATH, OJIMIIIATH
MOKa3yBaTH
CITIBaTH

cIriaTu

HIOXAaTH, TAXHYTH
TOBOPHUTH, PO3MOBIISATH
BUTpAYaTH

CTOSITH

IJIABATH

Opatu

BUUTH
PO3MOBIIATH, TOBOPUTH
TyMaTu

KHJATH

pPO3yMITH
POKUIATHCS
HOCHUTH
nepemMaraTu
[MACATH
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